mcm>._.mczm

Decorative Handles



SIATANVH

Stainless Steel

FINISHES

Brass

Stainless Steel - Satin Brass- Chrome

‘ Bronze - 24 K Gold Plating

Zinc Alloy
ﬁ
Zinc Alloy -
\; Zinc Alloy -
” Zinc Alloy -
. Zinc Alloy -

Stainless Steel - Mirror

Stainless Steel - Polished

Brass- Polished Brass

Brass- Satin Nickel

Brass- Black Nickel

Brass- Smoke

Brass- Matte Chrome

Satin Nickel
Brass- Satin Brass

N
o

Aluminum

TT——

Chrome

Smoke Aluminum - Black

Satin Brass Aluminum - Anodized

www.sugatsune.com S”.GATSHNE 1-800-562-5267

(U.S.A. Only)



| /(“9t°  SUGHTSUNE | 1-800:562:5267




3dINS NOILVOITddV

Application guide

Sugatsune offers a wide array of handles in varying
sizes. Throughout pages 3-7 there are suggested
handle combinations that are ideal for all areas of a

4 I kitchen. With multiple sizes, Sugatsune handles can
The clean lines and smooth fit anything from large appliances to small drawer
textures of Sugatsune fronts.

handles allow flexibilty in
the mounting orientation of
the handles. With wide base
cabinets and narrow wall
cabinets, our handles cover
the full spectrum of handle

\needs. y )

\

|

L
1

=
| —
—

Our decorative hardware is
designed to coordinate with
a wide variety of styles and
decor. With our extensive
selection of products, it is
easy to create a flawless look
in any room.

N

Handles that are 14" or
larger, are ideal for installing
to any appliance. With

the following Sugatsune
suggested combinations, all
handle sizes are covered.

1-800-562-5267

(US.A.Only)

www.sugatsune.com

SUGATSUNE



3dIND NOILVDI1ddV

DSI-1630 30 SERIES

250~600
(9-7/8"~23-5/8")
96~192
(3-25/32"~7-9/16")

www.sugatsune.com SUIGATSHNE 1-800-562-5267

(U.S.A. Only)



>
Y
Y
—
R
=
©)
pd
)
=
)
m

DSI-2000

200~600
(7-7/8"~23-5/8")

www.sugatsune.com

28 SERIES

96~1392
(3-25/32"~54-13/16")

65~90
(2-9/16"~3-9/16")

SUGHTSUNE

26 SERIES

96~1392
—>| (3-25/32"~54-13/16")

X ?ﬁl
47 (1-27/32") 35(1-3/8")

ﬁf

>/
4

1-800-562-5267

(U.S.A. Only)




(5-29/32"~23-5/8")

www.sugatsune.com

3dIND NOILVDI1ddV

DIH

014

<

(2-3/16"~3-9/16") Y 35 (1-3/8")
(1

] 8

96~592
(3-25/32"~23-5/16")

(U.S.A. Only)

SU.GATS[IN[ 1-800-562-5267



3dINS NOILVOITddV

DSI-3330-30 27 SERIES 16 SERIES

90 (3-9/16")
- " 34(1-11/32")
00
96~592

96~592 > -
300~500 (3-25/32~23.5/16") (3-25/32"~23-5/16")

(11-13/16"~19-11/16")

www.sugatsune.com SUéATS['NE 1-800-562-5267

(U.S.A. Only)



DSI-4400

15~30
(19/32"~1-3/16")
15
(19/32")

T  —
! 40~50
55~90 | I (1-37/64"~1-31/32")
(2-3/16"~3-9/16") i

\ ‘ ‘
|
L | L 160~288 4}
1 ‘ (6-19/64"~11-11/32")
150~600

(5-29/32"~23-5/8")

www.sugatsune.com SUIGATSHNE 1-800-562-5267

(U.S.A. Only)

3dIND NOILVDI1ddV




=
o

O
@)
@)
ol
T
>
Z
O
—
m
n

HSINI4 NILVS [1331S SSITNIVLS v0€]

DSI-2000-20

Finish: Satin

L
C
65 (2-9/16")
Item No. Item No. Item No. ¢
DKIT-4/20-1 DKIT-5/20 DKIT-2/20-1
K
Back to back mounting Surface  mounting  kit. Back mounting kit. This —=—018 =
kit. This installation kit This installation kit allows installation kit allows the
allows the user to mount the user to mount a user to mount a handle
a handle on both sides of handle onto any surface through the backside Item No.
the door. When ordering without a fastener being of wood/metal/glass . . L C
a back to back mounted visible. When aquiring doors. when aquiring Interior Exterior
handle system, make sure this installation method this installation method, 1 DSI-2000-20-201 DSI-2000-20-20E 300 (11-13/16") 200 (7-7/8")
to order an interior and please order an interior please order an exterior " "
exterior handle. handle. The drawing handle. The drawing 2 DSI1-2000-20-251 DSI1-2000-20-25E 400 (15-3/4") 250 (9-7/8")
above features a concrete above features a wood 3 DSI-2000-20-30I DSI-2000-20-30E 450 (17-3/4") 300 (11-13/16")
wallmeun (el e, aleer (et lEiem, 4 | DSI-2000-20-501 | DSI-2000-20-50E | 700 (27-9/16") 500 (19-11/16")
Finish: Satin
L
C
90 (3-9/16")
Item No. Item No. Item No.
DKIT-4/30-1 DKIT-5/30 DKIT-2/30-1 ¢
&
Back to back mounting Surface  mounting  kit. Back mounting kit. This 225
kit. This installation kit This installation kit allows installation kit allows the
allows the user to mount the user to mount a user to mount a handle
a handle on both sides of handle onto any surface through  the backside Item No.
the door. When ordering without a fastener being of wood/metal/glass N " L C
a back to back mounted  visible. When aquiring  doors. when aquiring Interior Exterior
handle system, make sure this installation method this installation method, 5 DSI-2000-30-25I DSI-2000-30-25E 550 (21-5/8") 250 (9-7/8")
to order an interior and please order an interior please order an exterior " "
exterior handle. handle. The drawing handle. The drawing 6 DS1-2000-30-351 DSI-2000-30-35E 650 (25-9/16") 350 (13-3/4")
above featu(es a concrete abovg featu(es a wood 7 DSI-2000-30-45I DSI-2000-30-45E 750 (29-1/2") 450 (17-3/4")
R 8 | DSI-2000-30-601 | DSI-2000-30-60E | 900 (35-7/16") 600 (23-5/8")
Finish: Satin @
(N0 SCREW
+ Ideal for high corrosive
environments and machinery L D2
applications. \
+ Designed for applications T JTF 75
where a heavy duty handle is | (2-61/64")
required. T8
e Screw size: M8 \ c D1
Item No.
DKIT-2/30-1
Depth 20
Back mounting kit. This
installation kit allows the
user to mount a handle Item No. L C D1 D2
through the backside of _ RV R w
e e s g B 9 SSH-2540 400 (15-3/4") 316 (12-7/16")
doors. This installation 10 SSH-2560 600 (23-5/8") 516 (20-5/16") 19 25
kit works with SSH-3240, N o B
SSH3260 and SSh-3280. 11 SSH-2580 800 (31-1/2") 716 (28-3/16")
12 SSH-3240 400 (15-3/4") 316 (12-7/16")
13 SSH-3260 600 (23-5/8") 516 (20-5/16") 25 32
14 SSH-3280 800 (31-1/2") 716 (28-3/16")

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)



www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)

=
[EY

STTANVH 400d




SITANVH ¥400d I —
N

‘W
o
i SN
4
=
<
F
m
n
wn
n
-
m
m
L
>
=
P
Bl
<
n
I

DSI-3310-15

Finish: Satin

015 —
\\7//7
| 55 (2-3/16")
I (¢} 1
Item No. Item No. Item No.
DKIT-4/15-1 DKIT-5/15 DKIT-2/15-1
Back to back mounting Surface  mounting  kit. Back mounting kit. This
kit. This installation kit This installation kit allows installation kit allows the
allows the user to mount the user to mount a user to mount a handle
a handle on both sides of handle onto any surface through the backside
the door. When ordering without a fastener being of wood/metal/glass
a back to back mounted visible. When aquiring doors.  when  aquiring Item No.
handle system, make sure this installation method this installation method, erer BRErer L C
to order an interior and please order an interior please order an exterior
exterior handle. handle. The drawing handle. The drawing 1 DSI-3310-15-151 DSI-3310-15-15E 165 (6-1/2") 150 (5-29/32")
above features a concrete above features a wood > | pg|-3310-15-201 | DSI-3310-15-20E 215 (8-1/2") 200 (7-7/8")
wall-mount installation. door installation.
3 DSI-3310-15-301 DSI-3310-15-30E 315 (12-3/8") 300 (11-13/16")
DSI 3 3 10 20 Finish: Satin
220 —
\\7//7
| 65 (2-9/16")
f (¢} 1
Item No. Item No. Item No.
DKIT-4/20-1 DKIT-5/20 DKIT-2/20-1
Back to back mounting Surface  mounting  kit. Back mounting kit. This
kit. This installation kit This installation kit allows installation kit allows the
allows the user to mount the user to mount a user to mount a handle
a handle on both sides of handle onto any surface through the backside
the door. When ordering without a fastener being of wood/metal/glass
a back to back mounted  visible. When aquiring  doors. when aquiring Item No. L @
handle system, make sure this installation method this installation method, Interior Exterior
to order an interior and please order an interior please order an exterior " "
exterior handle. handle. The drawing handle. The drawing 4 Ds1-3310-20-201 DSI-3310-20-20€ 220 (8-11/16") 200 (7-7/8")
above featu.res a concrete abovel features a wood 5 DSI-3310-20-25I1 DSI-3310-20-25E 270 (10-5/8") 250 (9-27/32")
R B 6 | DSI-3310-20-301 | DSI-3310-20-30E | 320 (12-5/8") 300 (11-13/16")
DSI 3 3 10 30 Finish: Satin
930 —
|
‘ 3
N 7
| 90 (3-9/16")
f [} 1
Item No. Item No. Item No.
DKIT-4/30-1 DKIT-5/30 DKIT-2/30-1
Back to back mounting Surface  mounting kit Back mounting kit. This
kit. This installation kit This installation kit allows installation kit allows the
allows the user to mount the user to mount a user to mount a handle
a handle on both sides of handle onto any surface through  the backside Item No.
the door. When ordering without a fastener being of wood/metal/glass N . L C
a back to back mounted visible. When aquiring doors. when aquiring Interior Exterior
handle system, make sure this installation method this installation method, DSI-3310-30-251 DSI-3310-30-25E 280 (11") 250 (9-27/32")
to order an interior and please order an interior please order an exterior " "
exterior handle. handle. The drawing handle. The drawing 8 DSI-3310-30-301 DSI-3310-30-30E 330 (12 300 (11-13/16")
above features a concrete above features a wood 9 DSI-3310-30-35I DSI-3310-30-35E 380 (14-15/16") 350 (13-25/32")
il GeElden, Ceoilbton 10| DSI-3310-30-601 | DSI-3310-30-60E | 630 (24-13/16") 600 (23-5/8")

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)



[y
w

STTANVH 400d

(U.S.A. Only)

www.sugatsune.com SU.GATSGNE 1-800-562-5267



[E
DS

O
O
O
P
T
>
Z
O
=
m
n

HSINI4 NILVS [1331S SSITNIVLS v0€]

DSI-4400-15

Item No.
DKIT-4/15-2

Back to back mounting
kit.  This installation kit
allows the user to mount
a handle on both sides of
the door. When ordering
a back to back mounted
handle system, make sure
to order an interior and
exterior handle.

Item No.

Item No.

DKIT-5/15

DKIT-2/15-2

Surface  mounting  kit.
This installation kit allows
the user to mount a
handle onto any surface
without a fastener being
visible. When aquiring
this installation method
please order an interior
handle. The drawing
above features a concrete
wall-mount installation.

Back mounting kit. This
installation kit allows the
user to mount a handle

through the backside
of wood/metal/glass
doors. when aquiring

this installation method,
please order an exterior
handle. The drawing
above features a wood
door installation.

Finish: Satin

15
(19/32")
|
L _ 1 7 B
© 1 ? __|
5 || |
- |
¥ | |
‘ |
C |
L
Item No.
- - L C
Interior Exterior
DSI-4400-15-15I DSI-4400-15-15E 165 (6-1/2") 150 (5-29/32")
2 | DSI-4400-15-201 DSI-4400-15-20E 215 (8-1/2") 200 (7-7/8")

3 | DSI-4400-15-30I

DSI-4400-15-30E

315 (12-3/8")

300 (11-13/16")

DSI-4400-20

Item No.
DKIT-4/20-2

Back to back mounting
kit. This installation kit
allows the user to mount
a handle on both sides of
the door. When ordering
a back to back mounted
handle system, make sure
to order an interior and
exterior handle.

Item No.

Item No.

DKIT-5/20

DKIT-2/20-2

Surface  mounting  kit.
This installation kit allows
the user to mount a
handle onto any surface
without a fastener being
visible. When aquiring
this installation method
please order an interior
handle. The drawing
above features a concrete
wall-mount installation.

Back mounting kit. This
installation kit allows the
user to mount a handle

through the backside
of wood/metal/glass
doors. when aquiring

this installation method,
please order an exterior
handle. The drawing
above features a wood
door installation.

Finish: Satin

20
(25/32")
[
/
L3N B 1 ~ _
© | i ]
S& | | \
a |
¥ | |
‘ |
C |
L
Item No.
- - L C
Interior Exterior
DSI-4400-20-20I DSI-4400-20-20E 220 (8-11/16") 200 (7-7/8")

[S

DSI-4400-20-25I

DSI-4400-20-25E

270 (10-5/8")

250 (9-27/32")

6 | DSI-4400-20-30I

DSI-4400-20-30E

320 (12-5/8")

300 (11-13/16")

DSI-4400-30

Item No.
DKIT-4/30-2

Back to back mounting
kit.  This installation kit
allows the user to mount
a handle on both sides of
the door. When ordering
a back to back mounted
handle system, make sure
to order an interior and
exterior handle.

Item No.

Item No.

DKIT-5/30

DKIT-2/30-2

Surface  mounting  kit.
This installation kit allows
the user to mount a
handle onto any surface
without a fastener being
visible. When aquiring
this installation method
please order an interior
handle. The drawing
above features a concrete
wall-mount installation.

Back mounting kit. This
installation kit allows the
user to mount a handle

through the backside
of wood/metal/glass
doors. when aquiring

this installation method,
please order an exterior
handle. The drawing
above features a wood
door installation.

Finish: Satin

30
(1-3/16")

ot —

]

920
(3-9/16")

r O ————T1T71T7T

¥ |
Item No.
- - L C
Interior Exterior
DSI-4400-30-25I DSI-4400-30-25E 280 (11") 250 (9-27/32")
DSI-4400-30-30I DSI-4400-30-30E 330 (12") 300 (11-13/16")

9 | DSI-4400-30-35I

DSI-4400-30-35E

380 (14-15/16")

350 (13-25/32")

10 | DSI-4400-30-60I

DSI-4400-30-60E

630 (24-13/16")

600 (23-5/8")

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)



=
(Oa]

)
©)
©)
Py
T
>
Z
O
—
m
(%)

(US.A.Only)

www.sugatsune.com suém‘sﬁ"[ 1-800-562-5267



=
(o)}

O
O
O
P
T
>
Z
O
=
m
n

HSINI4 NILVS / HOddIW [1331S SSITINIVLS]

DSI-3330-30

Item No.
DKIT-4/30-1

Back to back mounting
kit.  This installation kit
allows the user to mount
a handle on both sides of
the door. When ordering
a back to back mounted
handle system, make sure
to order an interior and
exterior handle.

Item No.
DKIT-5/30

Surface  mounting  kit.
This installation kit allows
the user to mount a
handle onto any surface
without a fastener being
visible.  When aquiring
this installation method
please order an interior
handle. The drawing
above features a concrete
wall-mount installation.

Item No.
DKIT-2/30-1

Back mounting kit. This
installation kit allows the
user to mount a handle

through the backside
of wood/metal/glass
doors. when aquiring

this installation method,
please order an exterior
handle. The drawing
above features a wood
door installation.

Finish: Satin

230
|
| 1)
| NP/
90 (3-9/16")
o]
= 49 —| = 24 |-
(1-15/16") (15/167)
Item No.
- - L C
Interior Exterior

DSI-3330-30-30I

DSI-3330-30-30E

320 (12-19/32")

300 (11-13/16")

DSI-3330-30-50I

DSI-3330-30-50E

520 (20-15/32")

500 (19-11/16")

RH

Finish: Satin
(N0 SCREW

a15

o Low Profile design helps to eliminate tight

space issues.

o Designed for applications where a heavy
duty handle is required.
e Screw size: M5

Item No. L

C

RH-760 786 (30-15/16")

760 (29-59/64")

Top View

Finish: Mil

STAINLESS

316
STEEL

h
(Mo scaev]

o Ideal for harsh and high corrosive environments.

o Designed for applications where a heavy duty
handle is required.

e This handle is installed from the front side.

! l T

4\ I

b 52.7 J

65.4
(2-9/16")
Item No. L C

4 MP- 500 500 (19-11/16") 464(18-17/64")
5 MP- 750 750 (29-17/32") 714 (28-7/64")
6 MP-1000 1000 (39-3/8") 964 (37-61/64")

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)



www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)

[y
~

STTANVH 400d




SFTANVH ¥400d I —
oo

>
Z
@)
=
N
m
O
~
w
-~
>
(@)
~
~
>
=
pa
L
Z
7
I

SOR

o Ideal for application where a large
handle is the solution.

e Screw size:

M6 (400 and 600)

M8 (800)

e Maximum screw depth: 10mm

Finish:

(S) Anodized / (B) Black ' ‘\Q«
S
S

o
l l T A
‘ ‘ ‘ 60 (2:23/64)
C
L
Max screw depth 10mm
| | | /
& — & |
Item No. L C R
SOR-400/S 4 SOR-400/BL (390) (15-23/64") 335 (13-3/16") 350
SOR-600/S 5 SOR-600/BL (600) ( 23-5/8" ) 522 (20-35/64") 790
3 SOR-800/S 6 SOR-800/BL (816) ( 32-1/8" ) 710 (27-61/64") 1440

DSI-1630

Item No.
DKIT-4/30-1

Back to back mounting
kit. This installation kit
allows the user to mount
a handle on both sides of
the door. When ordering
a back to back mounted
handle system, make sure
to order an interior and
exterior handle.

Finish: Satin (spmiess

304
STEEL
O
== L
Item No. Item No.
DKIT-5/30 DKIT-2/30-1 H
Surface  mounting  kit. Back mounting kit. This q;bg
This installation kit allows installation kit allows the
the user to mount a user to mount a handle C
handle onto any surface through the backside
without a fastener being of wood/metal/glass
visible. When aquiring doors. when aquiring
this installation method this installation method,
please order an interior please order an exterior
handle. The drawing handle. The drawing
above features a concrete above features a wood
wall-mount installation. door installation.
Item No.
- X L C H
Interior Exterior
7 DSI-1630-30-25I DSI-1630-30-25E 314 ( 12-3/8" ) 250 ( 9-7/8") 66 ( 2-19/32")
8 DSI-1630-30-35I DSI-1630-30-35E 430 (16-15/16") 350 (13-3/4") 74 ( 2-29/32")
9 DSI-1630-30-451 DSI-1630-30-45E 542 ( 21-5/16") 450 (17-3/4") 80 ( 3-5/32")
10 DSI-1630-30-601 DSI-1630-30-60E 721 ( 28-3/8" ) 600 ( 23-5/8") 79 ( 3-7/64")

Featured in the image to the left is the DSI-1630
mounted to a solid oak door. The unique shape
of the handle adds an elegance to the design, in
addition to creating interest upon entering into

the room.

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)



[y
o

STTANVH 400d

www.sugatsune.com S”.GATSGNE 1-800-562-5267

(U.S.A. Only)



%)
=
)
Z
Q)
)
O
©)
X
T
>
pd
o
—
m
(%]

X3ANI

www.sugatsune.com

SUGHTSUNE

i

1-800-562-5267

(U.S.A. Only)



| // SLIDING DOOR HANDLES

' SLIDING DOOR LATCHES

Picture Item No. Page Picture Item No.
F DSI-4251 22-23 :
‘ XL-MT120-H/U
| (FOR GLASS DOOR)
P DSI-4253 22-23 :
q DSI-3250 22-23 a B g
. ', HR-35
L o= Sis (LEVER BOLT)
DSI-4254-35 22-23 a0 o
!' DSI-4254-45 22-23 s
: | HC-30R
DSI-4252-C-12 ” A (LEVER BOLT)
\:k (FOR GLASS DOOR) e
s DSI-4252-12 2 5 1
\o (FOR GLASS DOOR) —
(\ DSI-5250-12 o - !@ HC-30
] (FOR GLASS DOOR) o | =
. DSI-3250-12 2 —
(FOR GLASS DOOR) Una
Y — HC-30H
/f HH-P135 25 - 1 !@ (W/INDICATOR)
E o 1 :
3
* YK-70 25
3
Al
:J YK-W100 25 HC-30L
—
'/ HN 26
- HC-30HL
/ OP-150 26 (W/INDICATOR)
) RP 26
p~ MR 27 HC-70
L7 (' HRR 27
G ¢
{ [,',/
© sT-80,100 27 HC-70H
3 (W/INDICATOR)
% $T-90,115 27
HC-65
HHC-85
For more details about the sliding door latches, reference .

the 201 catalog or www.sugatsune.com

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)

(92)]
=
O
Z
o
)
O
o
P
T
>
pd
)
)
m
n

X3ANI



22

DS I = 3 2 50 Finish: Satin, Antique Brass (AB)

n
—
S) .
Z
()
)
@)
» >
e 294 2100
I
>
Pz
)
—
rm
m LT
b
c
Item No. C A
s DSI-3250-35 39 (1-17/32") 35 (1-3/8")
DSI-3250-45 49 (1-15/16") 45 (1-3/4")

DSI'42 54'35 Finish: Satin DSI'4251 Finish: Satin

fa— 35— =

(1-3/8")

Il
]

l L

120 (4-11/16")

HSINI4 SSVid INOILNY / NILVS

Item No. H D Y
1 DSI-4254-100-35 100 50 40
2 DSI-4254-200-35 200 110 Item No. A
3 DSI-4254-300-35 300 85 210 DSI-4251-35 35 (1-3/8")
4 DSI-4254-500-35 500 410 6 DSI-4251-45 45 (1-3/4")

DSI'42 54'45 ° Finish: Satin DSI'4253 Finish: Satin

D

(1-3/4”)

— 45— ‘

| ——

I 1_” j[ )

B

82(3-7/32")
100 (3-15/16")

50

Item No. A
Item No. H D Y DSI-4253-35 35 (1-3/8")
DSI-4254-100-45 100 50 40 7 DSI-4253-45 45 (1-3/4")

www.sugatsune.com SUéATSﬁNE 1-800-562-5267

(U.S.A. Only)



SFTANVH 4O0d SNIAITS

(U.S.A. Only)

www.sugatsune.com S“IGATSHNE 1-800-562-5267



24

_ Finish: Satin | stAmnLEss
DSI-4252-C-12 | @

127 STEEL
60 2 (172 2

a I

DS|_4252_12 Finish: Satin 5;%52

STEEL

100

(%)
=
o
Z
o
)
O
O
X
T
>
pd
O
—
m
n

127
60 2 (112 2

- I

Item No J l
2 DSI-4252-12

DSI-5250-12 P s (558

STEEL

100

50

~16—

E—12.7(1/2")

T
294
Item No L |y |

3 DSI-5250-12
Finish: Satin [ sTamLess
DSI-3250-12 553)

n T

HSINI4 NILVS [133.1S SSITINIVLS 10€]

294 2100

N

| N E—
k270727
Item No =16~

4 DSI-3250-12

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267

(US.A.Only)




25

maxes | Material: Zinc Alloy, Steel _
ESTEEL Finish: Chrome (CR), Dull Chrome (DC) H H - P1 3 5

W
—
- 40 (13.5) 30~40 9
(1-37/64") © (1.8) 1= =
—F 301~ © 3 2
* lr = T e U
i3 : | in O
5. I :® e S O
~F P »
5o IR : =
-5 i = - -
S S
© S =z
I =
I H < =
_J‘—/ m
25w n 2
9.5
—~-05
—h-204=—
Item No. L H e
1 HH-P135/CR
40 (1-9/16") | 135 (5-5/16") 30 ~ 40
HH-P135/DC (@)
STAINLESS I
304 Méx20 Finish: Satin YK'70 w
steeL | [ STAINLESS o
0 m
(25/32") ~
2045085 E
24 20,5+
(15/16") (13/16") 24 22 -
A 1g4 3.3~ 22 3.5~
e * 0
= @j | o =
: ~ |~ tg by LY
B 323 e 9z Ta )
] B A 2
| - m
1 Door Thickness: ~
min. 30 mm m
Item No E
3] YK-70
i
STAINLESS E
Max20 | . . : \A’
304 Finish: Satin -
STAINLESS YK 100 G
(20)
(25/32)
24— 118 =
(1 53? 6") 8080 (1554)
AT 18—4— 3.3~ 24 20
) 22 3.5—==
\ = Ml
~ |~ = T 1o ]
== g8 83 g T 3% 82
A T 1 l L3 ||
e <
@ — Door thickness:
i min. 30 mm
Item No
4] YK-W100

(US.A.Only)

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267



26

(%)
=
o
Z
o
)
O
O
X
T
>
pd
O
—
m
n

HSINI4 NILVS [133.1S SSITINIVLS 10€]

HN

Finish: Satin NAIL

1.5x10

STAINLESS

0

L/

STAINLESS

304

STEEL

Item No. L H D
1 HN-120SH 120 (4-23/32") 30 (1-3/16") 10 (25/64")
2 HN-150SH 150 (5-29/32") 35 (1-3/8") 12 (15/32")
3 HN-200SH 200 (7-7/8")
1-31/32" 13.2 4"
4 HN-250SH 250 (9-27/32") 50(1-31/32°) 32(33/64)
STAINLESS
OP_ 1 50 Finish: Satin 304
(noscren) | STEEL
150 0.5 9.5 (3/8")
(5-29/32") .
En T e
? ~ <
_ _ _ _ _ 0¥ 1] 9<
i 12 N 83
- | =
*
02
144
(5-43/64")
Item No. L H
5 OP-150 150 (5-29/32") 40 (1-37/64")
STAINLESS
RP Finish: Satin 304
(Noscren] | sTEEL
b7
o2
|
- - - 0 v
Q Q Y
|
' /
Item No. L D
6 RP-30 30 (1-3/16") 27.5
7 RP-37 36 (1-27/64") 31.5
8 RP-45 46 (1-13/16") 41
9 RP-60 60 (2-23/64") 53.5
10 RP-80 80 (3-5/32") 71

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(US.A.Only)



STAINLESS Y ©
304 | B Finish: Satin L
STEEL ) (sramuess) S

wn
‘ —
O
; zZ
)
E’ ”E 175 L 8
© >
=z
Item No. L D E G ,g
. m
HR- 90 90 (3-35/64") 36 24 (15/16 1 wn
HR-110 110 (4-21/64") 42
3 HR-135 135 (5-5/16") 55 25 (63/64") 12

STAINLESS
304 E 592 | Finish: Satin H R- R
STEEL STAINLESS 045

F 1] -
=i}
©
Item No. L H D
4 HR- 90R 90 (3-35/64") 32 36
5 HR-110R 110 (4-21/64") 38 42

STAINLESS Y
304 Z Finish: Satin
STEEL ) (SmamLess)

f+—B—>l

)
|
2

W
(=]
NN
b
2
<
F
m
0
0
n
-
m
m
=
>
=
Z
]
=
0
L

L
fR\r—QfR\

04.5,07.5

Item No. L H Hi B
6 ST- 80 80 ( 3-9/64") 18 25 18 (45/64")
7 ST-100 100 ( 3-15/16") 21 32 20 (25/32")
STAINLESS
304 Finish: Satin ST'90 115
STEEL ) (smancess) ’
TOP
f«— B —»| fe—— H—>{
|e—»| H:
© 1
777777 ! | T et
" I 1 =
Nl ob
;M‘s,m‘s
Item No. L Ly H H, B B:
8 ST- 90 90 (3-35/64") | 66.2 | 35.5 | 10.5 |22 (55/64")| 18.5
9 ST-115 115 (4-17/32") | 86.2 | 42 13 |25 (63/64") 20

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267

(US.A.Only)



SAONM B ST1Nd 'SITANVH

y Y “Tchf'czcgir_e Firm: Eisner Design, LLC
- Project name: Watts Street
: Photographer:Stephen Scott Gross Photography

—r——

— e ——— P

www.eisnerdesign.com



I
Picture Item No. C(e:rev:ﬁre:o Page Picture Item No. C?jztﬁc:e:o Page jZ>
~  rmm— U
_ _ sniss| - 3-25/32"~ v 0 @ snEss | 2-27/32" ~ —
~ 16 SERIES gT(E)?L 23-5/16" 32-33 ‘ - XL-CU ans 4 ngE‘?’L 11-1/2" 42 m
\ STAINLESS 3-25/32"~ ) ) 2%5535 2-3/4"~ )
S 7B o) 3spe P 6/‘ XUCR RV —
: —
o  pevmm—— - VIN m
s 3 957390, = @ STAINLESS 3-5/8
DIH 04| e EC gs 303 g5z 43 Q
Botts ol =
 pevm——— K
_ ", ot STAINLESS 2_33/64“ ~
DSI-110 30a| 282~ 3 '/ DL [ @ 303| e M3 %
steer)  20-5/32 o (sTeEL) O
_ " & STAINLESS 63/64"~ wm
KBE-1036 215/31/?6" 35 %\)‘ DS [ @ 03 3113 M
- _Sompka _COMPONENT
6-5/16"~ : 0 @ STAINLESS 2-1/4"~
KBE-1014 oagny B J/E Fr6580100 o) N |552) 353 4
" > STAINLESS
KBE-1010 51';/3/287 35 3/" FT-110S @ 304 45160 44 _
- 3 —
" b, STAINLESS "
=T 3-25/32"~ /‘L F-120,150 0o @ Soa| 41164~ 4,
T 70 SERIES ol 1228 1219322 & e S 5316 |-U|-|
= — STANLESS 6-5/16"~ = “g @ g‘#“ss 6-57/64"~ x
- - 304 -
— KBE 1035 STEEL 19-3/8" 36 { FT 200’280 [COMPONENT] STEEL 9-31/32" 44
_ G STAINLESS _ "_, STANLESS - "~
%\ 30 SERIES 3BBL~ 36 2C H @ 31| 23364~ g
M s 7-9/16 o seet)  6.19/64
6-19/64" ~ ’ :- STAINLESS 4-9/64"~
. 82 SERIES gz 15197300 36 ﬁ 3LC ply 4_5/9/64,, 45
3-25/32"~ @ S1el| 2-23/64~
sl 26 SERIES _m® 54-13/16°  °/ ﬁ e oy 2 oo
. (eramiees ) " STAINLESS "
) ) ¢ STAINLESS 3-25/32"~ # @ 316 5-29/32"~
\ 28 SERIES i 1294 saazne Y MG M o =) 1113160 20
— g STAINLESS B " > STAINLESS _ u
— KC-R 0 @ 316 312 38 / ~  US 35 @ s0a| 2-1/8 46
Rokis STEEL 6" & \J‘/ ot \STEEL)  5-33/64"
— STAINLESS B ", _ ",
~ EK-R 3te| /2 38 ./‘ KBE-1011 > 3/28 47
eS| 3-25/32"~ —— ) |56s) 51320~
f£— W™ Ds-120 304 T 39 4 j “OSERIES b 1%22) o ¥
STAINLESS 3-7/32"~ > ’ ¢ sggszs. 6-19/64"~
./‘ FB 04| UL 39 (,//‘ KPH M 322) Cira Y
- STAINLESS " \ O _ "
'\ KB @ Sos| 83/64~ 4 /‘ KK-H §ﬁ 2-3/4~ g
fb sreec)  3-11/32 4-23/32
ks @ 04| 3~4 40 KK-M O L
& STEEL 9“ 4-23/32"
STAINLESS 2-61/64"~ - 7 } 3-25/32"~
/' ECH gl'(E)ESL 11-13/16" 41 ¢ XLA-HA 12-19/32" 49
— 0 @ ) 3.1/2~ 1 3-1/6"~
— KC-s et 316 : 41 = KAKU-A 49
Rokis STEEL 6 ¥ 4-7/16
P 1 ¢ i .
- 2 @ ste| V2 41 936 SERIES [ d 21/64~ g
RoHS STEEL 6 [T} ROk 3-61/64
1 0 suness)  6-19/64" ~
-~ XIS 8 1822) 13-s5564r
i 0 sunss)  1-17/64" ~
/ XLR 318 sapmr ¥

www.sugatsune.com SU.GATSHNE 1-800-562-5267

(U.S.A. Only)



Picture Item No. Center to Page Picture Item No. Page
Center

KBE-1005 12-19/32" 50

XLA-HH ,¢ 5% 56

RoHS
oo

SAZ 4-1/64" 50 UP-600 56

T
>
Z
g
—
rm
2
o
C
—
—
wn
%
~N
Z
@)
o
wn

STAINLESS "
EC-Y 4 4-23/327~ 50 &2 O 39225 56
os

2 6-11/16"
a @ sess) 4-17/32"~
EC-H ; 303| 5.45/64" 50 3511,3512 SERIES 56
o] STEEL /
M STANLESS
LX 3-25/32 51 HCT-150 316| 57
STEEL
STAINLESS 3"~ ( —n
DCSOMDLIOM | 208] 35535 51 = M- 57

DLB 3-25/32" 51 TMU-115 57

AN AN

=]
FK-100-WW 51 - PT-148 57

X3AdNI

| // RECESSED PULLS |/ PuLLs

Picture Page Picture Item No. Page
/ STAINLESS STAINLESS
/ HH-D 316 52 pa DSI-350 304| 58
STEEL / STEEL
s TR STAINLESS
/' HH-DS 316| 52 -— SND ,ﬁs @ 58
{ STEEL o KLl STEEL
5 & STAINLESS
\ \% HH-K 316| 52 e SN [ O = s
STEEL - 2| [componenT] \oLEE
b STAINLESS
\/ HH-KS 16| 52 D/ CN 59
STAINLESS ST
\9> HH-KP150 304| 53 - " g®  AG 59
STEEL \L/" .
S STAINLESS =3
< HH-KL160 304| 53 AT >
STEEL y » & > RoHS
@’ c 3 ﬁ SM, 90/5 316| 59
& HH-FB, HH-F 5 RD-55/SM, 90/SM 5
© STEEL 4 ﬂ / / gr1EE6L
> ) p O] STANLESS
@ UTZ-130 54 owo 26700 316 60
? 5
\/ SD-160 e 54 @ 26901 60
o-0
L STAINLESS
\/5 ut @ 54 ® 26900 [d [335] 0
STEEL oo | | STEEL
o o
[ STAINLESS 0 STaNESs
- sP 04| 54 (=)} 980643 3041 61
) 0, (o] STAINLESS
\ﬁ' © HH-AS2 d [304] 55 @ = 980641980642 4 204 61
Ro STEEL o—s O=0 Rons
\ \ STAINLESS = 0 STAINLESS
< HH-AS3 55 d 980640 o |30a| 61
= STEEL | = pEH| ( STEEL
[ r— STAINLESS .-./,, i
8] ES-611 55 (o) 587B 62
= o)

www.sugatsune.com S”.GATSHNE 1-800-562-5267

(U.S.A. Only)



Picture Item No. Page Picture Item No. Page
S
@) 587 l 62 < KK-T 52 60
L S
@) 580 l 62 ’ KK-B 5} 69
L] ( - ) STAINLESS
( ) 3261,3262 SERIES 62 v o RSS R"S @ 304/ 70-71
- i STEEL
) — STAINLESS
w FH-100AK, FH-100BK 63 . DSI-209 304/ 7071
P = — STAINLESS
V ﬂ FH-100AM, FH-100BM 63 “ EY-301 3041 70-71
= & { ; STAINLESS
\ AOT35 gs 5) 64 % EY-327 3041 70-71
¢) &/”/\ 0 STAINLESS STAINLESS
2w M [0 o o e 202) 70
— STAINLESS
FS-04/S 64 é EY-339 2041 70-71
‘ STAINLESS
9 FS-06/S 64 U EY-338 70-71
STAINLESS
|/ KNOBS I EY-207 304, 70-71
STEEL
s STAINLESS
Picture Item No. Page m EY-320 70-71
STEEL
’ DSI-126D 3041 65 E EY-127 3041 70-71
& STAINLESS
:ﬁ GT-40CR 65 ( ,> RS-38 0 @ 70-71
] — —
“ 9 0 DG-BT 65
#? DG-BT2 65
? TS 66
gﬁiﬂ DJ-22 66
li GLA 66
[
= l,(;ee MRB 67
9
\e DW-50N 67
B® - 6
‘““ PK-03 68
»
\./ A SERIES 5““ 68
T TN
‘g T8 Ty MKZ 68

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)

I
>
Z
)
—
m
w
;)
C
—
—
n
%0
=~
Z
O
o)
n

X3AdNI



T
>
Z
g
—
rm
2
o
C
—
—
wn
%
~N
Z
@)
o
wn

HSINIA NILVS [133.1S SSITINIVLS ¥0€] STTIANVH LINIGVD

www.sugatsune.com

SUGHTSUNE

STAINLESS
304 V425 | Finish: Satin (S)
STEEL | STAINLESS

27 SERIES

- o @%-*

L .l
—~130
218 (1-3/16")
11/16")
»[;4—
1
T 44 (1-47/64")
v
15
(9/16")
Item No. L C
1] 27096 128 (5-1/32") 96 (3-25/32")
2| 27128 160 (6-5/16") 128 (5-1/32")
3| 27160 192 (7-9/16") 160 (6-5/16")
4 27192 224 (8-13/16") 192 (7-9/16")
5 27292 324 (12-3/4") 292 (11-7/16")
6 27320 352 (13-7/8") 320 (12-9/16")
7 27342 374 (14-3/4") 342 (13-15/32")
8 27392 424 (16-11/16") 392 (15-7/16")
9| 27492 524 (20-5/8") 492 (19-3/8")
10 27592 624 (24-9/16") 592 (23-5/16")

STAINLESS
304 M5 | Finish: Satin (S)
STEEL || STAINLESS

16 SERIES

&

c
L

a12

(1/2")

N (25/32")

NA

34(1-11/32")
10
(3/8")
Item No. L C

11 1646 118 (4-41/64") 96 (3-25/32")
12 1647 150 (5-29/32") 128 (5-1/32")
13 1648 182 (7-5/32") 160 (6-5/16")
14 1650 214 (8-7/16") 192(7-9/16")
15 1651 314 (12-3/8") 292 (11-7/16")
16 1652 342 (13-15/32") 320 (12-9/16")
17 1653 364 (14-11/32") 342 (13-15/31")
18 1654 414 (16-5/16") 392 (15-7/16")
19 1655 514 (20-1/4") 492 (19-3/8")
20 1656 614 (24-5/32") 592 (23-5/16")

1-800-562-5267

(U.S.A. Only)



on
o

HANDLES, PULLS & KNOBS CABINET HANDLES [304 STAINLESS STEEL] SATIN FINISH

:
®
| l, w |
| e RO
.-u | |

® e SH o8 i)

1-800-562-5267

www.sugatsune.com

SUGATSUNE

(U.S.A. Only)



STAINLESS
DIH Finish: satin 5) il "% || 304
STAINLESS STEEL

I
> 014
Z M) [
O
= |
rm U
2 )
: © x
= |
— k C 1
wn
8: Item No. L C
=z 1 DIH-096 110 (4-11/32") 96 (3-25/32")
O 2 DIH-128 142 (5-19/32") 128 (5-1/32")
(0/3’ 3 DIH-192 206 (8-1/8") 192 (7-9/16")
4 DIH-342 356 (14-1/32") 342 (13-15/32")
5 DIH-492 506 (19-29/32") 492 (19-3/8")
6 DIH-592 606 (23-7/8") 592 (23-5/16")
STAINLESS
DSl - 110 Finish: Satin (S) v || 304
STAINLESS STEEL

. A
)
N |
%

L c -3 1le

(T5/64")

Item No. L C
7 | DSI-110- 96 126 (4-31/32") 96 (3-25/32")
8 | DSI-110-128 158 (6-7/32") 128 (5-1/32")
9 | DSI-110-160 190 (7-15/32") 160 (6-5/16")
10 | DSI-110-192 222 (8-3/4") 192 (7-9/16")
11 | DSI-110-320 350 (13-25/32") 320 (12-19/32")
12 | DSI-110-512 542 (21-11/32") 512 (20-5/32")

HSINIA NILVS [133.1S SSITINIVLS ¥0€] SITANVH LINIGVD

Architect: Amy A. Alper, Architect
Project name: Currier Condominium
Photo credit: Eric Rorer

www.alperarchitect.com

www.sugatsune.com SUéATSﬁNE 1-800-562-5267

(U.S.A. Only)



{al: inl L
Materia ;?:Cs;tﬁgyess Steel KB E_ 10 3 6

Finish:  Satin (S)

SAONM ® ST1Nd 'STTANVH

KBE-1036-160 160 (6-5/16")
2 192 (7-9/16")
3 320 (12-19/32)
4 392 (15-7/16)

492(19-5/16")
6 592 (23-3/8")
7 792 (31-3/16")

ial: 304 Stainless Steel
e e~ KBE-1014

Finish:  Satin (S)

L

8 | KBE-1014-160 | 185 160 (6-5/16")
9 | KBE-1014-320 320 (12-19/32")

Material: 304 Stainless Steel KB E_ 10 10

Zinc Alloy
Finish:  Satin (S)

jﬁ -1/2")

‘—1 8.2-‘
(3/4")

10 128 (5-1/32")
1 160 (6-5/16")
12 192 (7-9/16")
292 (11-1/2")
14 320 (12:19/32)
492 (19-3/8")

www.sugatsune.com SUIGATSHNE 1-800-562-5267

0
>
=
Z
m
-
L
>
Z
)
-
m
%}
‘W
=)
S
ot
2
2
-
m
n
0
1]
-
m
m
-
R
=
<
(@]
>
-
o
S
>
-
Z
=
=
n
I

(U.S.A. Only)




36
~ |

T
>
Z
g
—
rm
2
o
C
—
—
wn
%
~N
Z
@)
o
wn

SITANVH 13INIgVvD

70 SERIES

Finish: Satin (S) W25
STAINLESS

14(9/16")

i

STAINLESS

304
STEEL

Item No.

L C
1 7013 160 (6-5/16") 96 (3-25/32")
2 7014 192 (7-9/16") 128 (5-1/32")
3 7015 224 (8-13/16") 160 (6-19/64")
4 7016 256 (10-5/64") 192 (7-9/16")
5 7017 288 (11-11/32") 224 (8-13/16")
6 7018 320 (12-19/32") 256 (10-5/64")
7 7020 384 (15-1/8") 320 (12-19/32")

STAINLESS

KB E' 103 5 Finish: Satin (S) | 304
STEEL
% 40.T (1-9/16")
e
(9/16")
Item No. L C
8 | KBE-1035-160 240 (9-7/16") 160 (6-5/16")
9 | KBE-1035-192 272 (10-11/16") 192 (6-19/64")
10 | KBE-1035-292 372 (14-5/8") 292 (11-1/2")
11 | KBE-1035-320 400 (15-3/4") 320 (12-19/32")
12 | KBE-1035-392 472 (18-9/16") 392 (15-13/32")
13 | KBE-1035-492 572 (22-1/2") 492 (19-3/8")

www.sugatsune.com

M4x25
STAINLESS

Material: 304 Stainless Steel & Aluminum
Finish: Satin (S)

82 SERIES

D

N

41 (1-39/64")

f— 27—+

342 (13-7/16")

Item No L C
1 8261 182 (7-3/16") 160 (6-19/64")
2 8262 214 (8-7/16") 192 (7-9/16")
3 8263 246 (9-11/16") 224 (8-13/16")
4

320 (12-19/32")

STAINLESS

STEEL

Finish: Satin (S)

8264
M4x25
304 | STAINLESS

//dD\\

L
|

30 SERIES

8(5/16")

34
(1-11/32")

\_M4 x 25

Item No. L C
5 3096 118 (4-5/8") 96 (3-25/32")
6 3097 151 (5-15/16") 128 (5-1/32")
7 3098 189 (7-7/16") 160 (6-19/64")
8 3099 224 (8-13/16") 192 (7-9/16")

SUGATSUNE

1-800-562-5267

(U.S.A. Only)



28 SERIES

Finish: Satin (S)

47 (1-27/32")

SAONM ® ST1Nd 'STTANVH

281192 1256 1192 (46-59/64")
281392 1456 1392 (54-13/16")

26 SERIES

Finish: Satin (S)

Depth 10

35(1-3/8")

|

96 (3-25/32)
128 (5-1/32)
192 (7-9/16)
342 (13-15/32)
492(19-3/8")
592 (23-5/16)
1156 (45-1/2")
1392 (54-13/16")

0
>
=
Z
m
-
L
>
Z
)
-
m
wn
W
(=]
SN
ot
=
Z
F
m
n
0
0
-
m
m
L
>
=
Z
=
Z
n
I

www.sugatsune.com SUIGATSHNE 1-800-562-5267

(U.S.A. Only)




B2
(STAINLESS ]

Finish: Mirror (M)
Satin (S)

SAONM R ST1Nd 'STTANVH

..
e

Finish: Mirror (M)
Satin (S)

32
(1-17/64")

EK-R635/M
EK-R635/S
EK-R640/M .
EK-R640/S 101.6 (49
EK-R650/M
/ 127 (")
EK-R650/S

EK-R660/M
EK-R660/S

88.9 (3-1/2")

1524 (6")

0
>
o
Z
m
-
I
>
<
)
-
m
%)
‘W
=
o
b
>
Z
-
m
n
%)
0
-
m
m
L
=
)
Pl
@)
)
~
>
=
2
m
=
0
I

www.sugatsune.com SUIGATSHNE 1-800-562-5267

(U.S.A. Only)




w
O

Finish: Satin (S) DSI - 120

-

(1-3/16")
L
% (3-25/32")
128 ( 5-1/16")
160 ( 6-5/16" )
192 ( 7-9/16")
320 (12:19/32")
512 ( 20-5/32")

SAONM ® ST1Nd 'STTANVH

Finish: Mirror (M)

82 (3-7/32") 26 (1-1/32")
8 FB-110 102 (4-1/64") 28 (1-7/64")
9 120 (4-23/32") | 32(1-17/64")

R

c
%0 -

cott Gross Photography

HSINI4 NILVS / 4OdYIW [1331S SSITINIVLS ¥0€] SITANVH LINIGVD

(U.S.A. Only)

www.sugatsune.com S”.GATSHNE 1-800-562-5267




Finish: Mirror (M) S:Ts‘%isss
Satin () ('stamiess) | sreeL

SAONM R ST1Nd 'STTANVH

25 (63/64")

30 23 (29/32"

KB-50/M O)
45 (1-25/32") | 22( 7/8"

505 5(1-25/32") | 22( 7/8")

KB-7O/M " " , : =

KB-70/S 65 (2-9/16") |22.5 (57/64")

.. .. ®
85 (3-11/32") | 23 (29/32") A @

Satin (S)

STEEL @

Item No.
.
11 89 (3-1/2")
| Ks-435/5 |
102 (4")

14| KS-440/S

0
>
o
<
m
-
L
>
Z
)
-
m
%)
9
2
4
-
m
0
0
n
-
m
m
L
=
2
@)
-]
~
g
=
2
m
=
n
I

www.sugatsune.com SUIGATSHNE 1-800-562-5267

(U.S.A. Only)

N 1] [ sTamess y | ‘
KS Finish: Mirror (M) 304 _ !
| STAINLESS | 4 ]



ECH

Finish: Mirror (M)
Satin (S)

SAONM ® ST1Nd 'STTANVH

KC-S
Finish: Mirror (M)
Satin (S)

889 (3-1/2")

1016 (4")

127 (5"
14 1524 (6")

EK-S
Finish: Mirror (M)
Satin (S)

32
(1-17/64")

0
>
=
Z
m
-
L
>
Z
O
-
m
%}
[
2
Z
-
m
n
%}
0
-]
m
m
=
=
%
@)
~
N
>
=
Z
]
Z
n
L

15 889 (3-1/2")
16 1016 ( 4)
17 127 (5" )

1524 ( 6" )

www.sugatsune.com SUIGATSHNE 1-800-562-5267

(U.S.A. Only)




T
>
Z
g
—
rm
2
o
C
—
—
wn
%
~N
Z
@)
o
wn

HISNI4 NILVS 22 4OHYIIW [133.1S SSITINIVLS] SITANVH L1INIGVD

X L J S Max25 STAINLESS
- Finish: Mirror & Satin Combination 316
STAINLESS ] | STEEL
Satin
o
/ T
‘ T
| @ -
C 10 (3/8")
L M4 x 0.7
Depth 10
Item No. L C H
XL-JS165TT 166 (6-17/32") 160 (6-19/64") 30 (1-3/16")
XL-JS260TT 260 (10-15/64") 254 (10") 33 (1-19/64")
XL-JS360TT 358 (14-3/32") 352 (13-55/64") 36 (1-27/64")

XL-JSR

- . . N M4x25
Finish: Mirror & Satin Combination .
STAINLESS

Satin

= 1
©o
3
I
C 10 (3/8")
M4 x 0.7
L Depth 10
Item No. L C H
4 | XL-JSR 40TT 38 (1-1/2") 32 (1-17/64") 27 (1-1/16")
5 | XL-JSR 70TT 70 (2-3/4") 64 (2-33/64")
6 | XL-JSR100TT 102 (4") 96 (3-25/32") 30 (1-3/16")
7 | XL-JSR135TT 134 (5-1/4") 128 (5-1/32")

www.sugatsune.com

STAINLESS

M5 x 30
303
STEEL STAINLESS

Finish: Mirror & Satin Combination

XL-CU

L

W

16 (5/8”)
Satin

o
-

—— H —>

C >
Item No. L C H
1| XL-CU 80TT 82 (3-7/32") 72 (2-27/32") 32 (1-17/64")
2 | XL-CU100TT 102 (4" 92 (3-5/8") 34 (1-11/32")
3 | XL-CU120TT 122 (4-13/16") 112 (4-13/32") 36 (1-27/64")
4 | XL-CU150TT 152 (5-63/64") 142 (5-19/32") 38 (1-1/2")
5 | XL-CU180TT 182 (7-5/32") 172 (6-25/32") 40 (1-37/64")
6 | XL-CU220TT 222 (8-3/4") 212 (8-11/32") 42 (1-42/64")
7 | XL-CU300TT 302 (11-7/8") 292 (11-1/2") 44 (1-47/64")
SITSA%E:S; E Moo Finish: Mirror & Satin Combination XL-CU R
STEEL STEEL
‘ L —16 (5/8”)
Sitln
{1
| ap ‘ |

C
Item No. L C H
8 | XL-CUR 80TT 80 (3-9/64") 70 (2-3/4") 30 (1-3/16")
9 | XL-CUR100TT 90 (3-35/64") 32 (1-1/4")

10 | XL-CUR120TT

120 (4-23/32")

110 (4-21/64")

34 (1-11/32")

11 | XL-CUR150TT

(

100 (3-15/16")
(¢
(

150 (5-29/32")

140 (5-29/32")

36 (1-27/64")

SUGATSUNE

1-800-562-5267

(U.S.A. Only)



www.sugatsune.com

SUGHTSUNE

2

4

g\%iés Finish: Mirror (M)
STEEL | (STAINLESS ] Satin (5)

L

Finish: Mirror (M)
Satin (S)

L

| DL-9O/M | DL-90/5 | 90 | 84(-5/16") |
124 (4-7/8)

Finish: Mirror (M)
Satin (S)

L

30

1-800-562-5267

(U.S.A. Only)

EC-180/M | EC-180/S 172 (6-25/32")

24.5
25

DL-150/M | DL-150/S 144 (5-43/64")

| DS-9oM | Ds-90/s | 90 | 85(3-11/32)

SAONM ® ST1Nd 'STTANVH

0
>
2
Z
m
-
L
>
Z
O
-
m
wn
W
o
w
ot
=
<
F
m
n
%}
0
-
m
m
L
=
P
~
@)
Pl
N
4
=
2
21
Z
%)
I




44

FT-65, 80, 100

STAINLESS
L8l | 304
STEEL

HSINIA NILVS / HO¥YIW [1331S SSTTINIVLS] STTANVH WOSNVYL

www.sugatsune.com

I
> Finish: Mirror (M)
P
O
— -
m B T
v e R
- | T
[g 1= C:j 1 (Y l
=
o C
@ L
~
CZ) Item No. L C H
o 1 FT- 65 65 57 (2-1/4") 16 (5/8")
(208 > | T30 80 72 (2-27/32") 20 (25/32")
3 FT-100 100 88 (3 -15/32") 25 (63/64")
FT-110S 304
(NoscRaW ) | STEEL
Finish: Satin (S)
1
? 0 l | &
n om
N=
w | =
I * ~
(12.6) (7) 15
- 110
(4 -5/16")
124
Item No. L C H
4 ‘ FT-110S 110 (4-5/16") 26 (1-1/32")
STAINLESS
304 Finish: Mirror (M) -
304 | A FT-120, 150

e \w = T
| T
!
D 1 i
T f
| c
L
Item No. L C H
1 FT-120 120 106 (4-11/64") 27 (1-1/16")
2 FT-150 150 132 (5-3/16") 33 (1-19/64")
STAINLESS Mex3s) . '
gr!g. & Finish: Mirror (M) FT_ZOO’ 280

fe—H —

C
L
Item No. L C H
3 | FT-200 200 175 (6-57/64") 50 (1-31/32")
4 | FT-280 280 253 (9-31/32") 62 (2-7/16")

SUGATSUNE

1-800-562-5267

(U.S.A. Only)



! Finish: Mirror (M)

www.sugatsune.com

I

>

Z

O

—

m

72

o

C

—

-

n

Q&

C ~

- L . z

o

n

Item No. L C H

1 2LC-80 80 (3-5/32") 64 (2-33/64") 35 (1-3/8")
2 | 2LC-120 120 (4-23/32") 96 (3-25/32") 36 (1-27/64")
3 | 2LC-150 150 (5-29/32") 128 (5-1/32") 42 (1-42/64")
4 | 2LC-180 180 (7-3/32") 160 (6-19/64") 45 (1-49/64")

@ Finish: Mirror (M)
(o SCAEW

3LC

l
i

Item No. L C H
5 | 3LC-120 120 (4-23/32") 105 (4-9/64") 30 (1-3/16")
6 | 3LC-130 130 (5-1/8") 115 (4-17/32") 33 (1-19/64")
7 | 3LC-145 145 (5-23/32") 125 (4-59/64") 34 (1-11/32")

sunizss | V2
STEEL

Finish: Mirror (M)

4LC

ft— H —

Item No. L C H
8 | 4LC- 82 82 (3-7/32") 64 (2-33/64") 36.5 (1-7/16")
9 | 4LC-114 114 (4-1/2") 96 (3-25/32") 40 (1-37/64")
10| 4LC-150 150 (5-29/32") 128 (5-1/32") 45 (1-49/64")
11| 4LC-180 180 (7-3/32") 160 (6-19/64") 48 (1-57/64")

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)

HSINI4 HOUYHIW [133.1S SSTINIVLS 9T€] STTANVH WOSNVYL



MG Finish: Mirror (M)

I

>

P

O

—

m N R

wn e R L

o / ‘ il

< s

— i

— 1

(V) )

& j:

~

=z C

O L

(v9)

wn Item No. L C H
1 MG-150 172.8 150 (5-29/32") 56 (2-13/64")
2 MG-190 216.7 190 (7-31/64") 63 (2-31/64")
3 MG-250 275.5 250 (9-27/32") 68 (2-43/64")
4 MG-230T 260 230 (9-1/16") 70 (2-3/4")
5 MG-300T 330 300 (11-13/16") 70 (2-3/4")

US Material: Black/Synthetic Rubber (Grip) ! 5:731\%52
Finish: Mirror (M) STEEL

Satin (S)

(31

Item No. L C H
6 Us- 70/M
7 Us- 70//5 70 54 (2-1/8" 28(1-7/64")
8 US-120/M
9 us-1zo//s 120 102 (4-1/64") 32(1-17/64")
12 LLJ,Z%LZ%//E 160 140 (5-33/64") 37.5(1-15/32")

HSINIA NILVS / 4O¥YIIW [133.1S SSTTINIVLS] STTANVH WOSNVYL

www.sugatsune.com SU.GATSHNE 1-800-562-5267

(U.S.A. Only)



www.sugatsune.com

Material: 304 Stainless Steel & Zinc Alloy

Finish: Satin (S)

KBE-1011

37(1-15/32")

=

15

(19/32")

Item No. L C
1| KBE-1011-128 | 143 (5-5/8") 128 (5-1/32")
2 | KBE-1011-160 | 175(6-7/8") 160 (6-5/16")
3 | KBE-1011-192 | 207 (8-1/8") 192 (7-9/16")
4| KBE-1011-320 | 335(13-3/16") | 320 (12-9/16")
5 | KBE-1011-492 507 (20") 492 (19-3/8")
304 425 | Finish: Satin (5) 40 SERIES

STEEL STAINLESS

35(1-3/8")
T m
(1-37/64")
(¢}
Item No. L C

6 40128 138 (5-7/16") 128 (5-1/32")
7 40160 170 (6-11/16") 160 (6-5/16")

40192 202 (7-61/64" 192 (7-9/16")
STAINLESS
304 ! Finish: Satin (S) KPH

STEEL

15
(19/32")
|
— 1 [
M | L |
| | l
| ‘ |
T C 1
L
Item No. L C H
9 KPH-160 176 (6-15/16") 160 (6-19/64")
40 (1-37/64"
10 KPH-192 208 (8-3/16") 192 (7-9/16") ¢ /64)
11 KPH-224 240 (9-7/16") 224 (8-13/16")
12 KPH-256 272 (10-11/16") 256 (10-5/64") 50 (1-31/32")
13 KPH-288 304 (12") 288 (11-11/32")

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)

I
>
Z
)
—
m
w
;)
C
—
—
n
%
=~
Z
@)
o)
N

SITANVH 13INIgVD



Flmsh Nlckel NI R
KK-H Hgh B
Brown (BR S|

I
>
P
O
—
m
wn
_U aa§
c )
— I
—
wn
&
~
P
g B Depth12
(V2]
Item No. L C H
1 KK-H 80SNI 78 70 28
2 KK-H 80SSG (3-1/16") (2-3/4") (1-3/32")
3 KK-H 80SBR
4 KK-H110SNI 108 100 29
5 KK-H110SSG (4-1/4") (3-15/16") (1-9/64")
6 KK-H110SBR
7 KK-H130SNI 128 120 30
8 KK-H130SSG (5-1/32") (4-23/32" (1-3/16")
9 KK-H130SBR

F ish: Nickel (NI &
KK-M g Il
Brown (BR A ‘

Lol

(3/8")

[ WANIWNTV ] STTANVH 13INIgVD

L 2-M4x0.7
Depth12
Item No. L C H
10 KK-M 80SNI 80 70 28
11 KK-M 80SSG (3-1/8") (2-3/4") (1-3/32")
12 KK-M 80SBR
13 KK-M110SNI 110 100 29
14 KK-M110SSG (4-5/16") (3-15/16") (1-9/64")
15 KK-M110SBR
16 KK-M130SNI 130 120 30
17 KK-M130SSG (5-1/8") (4-23/32") (1-3/16")
18 KK-M130SBR

(U.S.A. Only)

www.sugatsune.com SUIGATSHNE 1-800-562-5267



www.sugatsune.com

M4 x25 | Material: Aluminum Alloy / Zinc Alloy
Finish: Anodized & Matte Silver
STEEL

XLA-HA

12.5

ol 3
SIS
?

I
>
Z
)
—
m
w
;)
C
—
—
n
%
=~
Z
@)
o)
N

- k f
L c |
L 2-M4x0.7
Depth 5
Item No. L C

1 XLA-HA 96 109 (4-19/64") 96 (3-25/32")
2 XLA-HA128 141 (5-9/16") 128 (5-1/32")
3 XLA-HA192 205 (8-1/16") 192 (7-9/16")
4 XLA-HA256 269 (10-19/32") 256 (10-5/64")
5 XLA-HA320 333 (13-1/8") 320 (2-19/32")

Finish: Dull Chrome
STEEL

KAKU-A

N

Depth7

Item No. L C H D
6 KAKU-A161 84 (3-5/16") 78 (3-1/16") 24 7
7 KAKU-A160 99 (3-29/32") 92 (3-5/8") 25 8
8 KAKU-A159 124 (4-7/8") 113 (4-7/16") 29 9
Material: Zinc Alloy
LA Finich: Satin Chrome(scR) 936 SERIES
| STEEL ] Dull Chrome (DC)
L 9" o
| T ‘F
i ] =
: 1y
NS
P :
10 11
c 2-M4x0.7
Depth S
Item No. L C
9 936- 55-SCR 66.5 (2-5/8") 55 (2-11/64")

10 | 936-100-DC

112 (413/32")

100.5 (3-61/64")

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)

49

SITANVH 13INIgVD



50
~ |

KB E_ 10 0 5 Material: 304 Stainless Steel gfn%slﬂc éalzlt?%

T

>

5

—

= —21.7 — 34 (1-11/32")
-U by

- e t(j |
= | T |

wn

@ ' L |

~N

5

o) Item No. L C

n 1 ‘ KBE-1005-320 334 (13-1/8") 320 (12-19/32")

SAZ Materal, Zine Alloy

- 17 =

Item No. L C
2 ‘ SAZ-121 121 (4-3/4") 102 (4-1/64")

SITANVH 13INIgVvD
o
:::]J

saniess | RV - )
303 =z Finish: Mirror (M) EC 'Y
K

STEEL

|
T
'
Il
T

-

I
G D ot o
) Lol
L
Item No. L C H
EC-Y-140 138 (5-7/16") 120 (4-23/32") 38 (1-1/2")
EC-Y-160 158 (6-7/32") 140 (5-33/64") 40 (1-37/64")
3 EC-Y-190 188 (7-13/32") 170 (6-11/16") 42 (1-42/64")
stamiess | @RV
303 Finish: Mirror (M) EC- H
STEEL | (srameess)
|
f 1 X
i ]
T TE CD l 1 Tt
T
< C ! «——5(0) —>
L
Item No. L C H
EC-H-135 135 (5-5/16") 115 (4-17/32") 40 (1-37/64")
5 EC-H-165 165 (6-1/2") 145 (5-45/64") 42 (1-21/32")

www.sugatsune.com Sué‘mﬁ"[ 1-800-562-5267

(U.S.A. Only)



DLB

Finish: Polished Brass (PB)/Chrome (CR)

maxas| . -
F: Finish: Satin Nickel
STEEL

[}
N o
<
g
& @
| |2
M4 x 0.7
Depth 10
Item No. L C
1] LX-110/SN 109 (4-19/64") 96 (3-25/32")
STAINLESS
soa [ e LX-90/M, LX-110/M
STeeL SRS Finish: Mirror (M)
Q ) (D &
1 \ T
Lo
M4 % 0.7
Depth 10
Item No L C R
2 LX- 90/M 89 76 (3" 53.5
LX-110/M 96 (3-25/32")

L 13.5 =
e &
N2
| © |<
o
M4 x 0.7
¢ Depth 12
Item No. L C
1 DLB-96/CR
102.2 (4") 96 (3-25/32")
2 DLB-96/PB
FK-100-WW —
= = STEEL
Finish: Satin Nickel |
7 DY
(BN S
L
Je; N
Ti 2l
4 f
L3l \M4x07 07
Depth 8
c
Item No. L C
3 FK-100-wwW 100 (3-15/16") Adjustable

www.sugatsune.com

SUGATSUNE

1-800-562-5267

(U.S.A. Only)

I
>
Z
)
=
-
w
;)
C
=
=
n
%
=~
Z
@)
o)
N

SITANVH 13INIgVD



52
]

T
>
Z
)
—
m
wn
-
C
—
—
n
%
=~
Z
O
o5,
n

HSINIA NILVS/d0ddIW [1331S SSIINIVLS 9T1€] ST1Nd A3SSIDIY

HH-KS

Finish: Mirror (M) s sgl:%s
satin (5) ('sramcess ) | Stee

~ 114 (4-31/64") —
+—96 (3-25/32") — e 4
e N (R
1 f F gi
]

©
¥ 2
[0 i3] _
Y i Item No.
pe 0
Q <

HH-KS 114M
HH-KS 114S

Max10 =
Finish: Mirror (M) Mix15 sé":-lg

Black | sTainLESS | | STEEL

114
(4-31/64")

96
(3-25/32")

415
N RN f [2‘6 l
A 3 =< >
Vs ) N YS b:3
: " lv !
83
= ’1 S
i i
S8l 48 [
T -
1076 M4 x 0.7 Item No.

Depth 8 2 HH-K

HH-DS

Finish: Mirror (M) i P

Satin (S) (‘staiNLess | | sTeeEL

114 (4-31/64") —»
96 (3-25/32") —» 4
____________ ANA —~
- NSt g I
I— ,Alr g Qj%
! /A | @
u| -
83;» o
1 >
FIT JIES
© = g S __ ltemNo.
= < _4 | HH-DS114M
M4 x0.7 6| HH-DS1145
Finish: Mirror (M) Miﬁ}‘; STAMLESS
H H - D Black [Sramiess gl':EGL
114
(4-31/64")
96 4 = 15—
(3-25/32")
/, 7 ™ \\\ ; T = T
@< )@ § 73
83 “
0 -
*
045 ’U} M4 x 0.7 ~ temNo.
107.6

Depth 8 5 HH-D

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(US.A.Only)



www.sugatsune.com

STAINLESS

304 Finish: Satin (S)
STEEL || NUT HH'KP150
132
(5-13/64")
113
(4-29/64")
R
5 50.5
175
4
AEE
3 P
= o 282 9%
(&) 4 < v
2 - &
w X
< 111.4 7 \a-msx08
& (4-25/64") (Copper plated steel)
Item No.
1] HH-KP150
STAINLESS M4x8 L. .
304 Finish: Satin (S) -
STEEL | ( STAINLESS HH KL160
130
(5-1/8")
105
4-9/64" M4 x 0.7
073 ( ) Depth 8
T 1 |
c»I i i
— —
60
03 o o
-
L ‘ cin AT s
@ | D E—— i N o8
I e G o L0)
e e rEaipt I
AN j J
y\ 7]
5|[21.8
(55/64")
Item No.
2| HH-KL160
STAINLESS om M
304 !F - -
STEEL NUT | [ STAINLESS HH FB' HH Fc
Finish: Mirror (M)
Satin (S)
‘ v 1 i
! -T | ! | T
g
— it
T T LA
(Ls) (Ly) 0
~\ Y
S T ~ @ ke [ N ke
1 ! —_— 1 ! —_
§ e @ 6 S ®
; ) ; )
HH-FB HH-FC
Item No. (L) (H1) Hs
6| HH-FB-1/M | 3| HH-FB-1/S
/ / 138 88 21
HH-FC-1/M HH-FC-1/S
7| HH-FB-2/M | 4| HH-FB-2/S
109.5 64 145
HH-FC-2/M HH-FC-2/S
8 | HH-FB-3/M | 5 HH-FB-3/S
94 60 12
HH-FC-3/M HH-FC-3/S

SUGHTSUNE

1-800-562-5267

(US.A.Only)

53
L

I
>
Z
)
=
m
w
5
C
=
—
n
%
=
Z
O
o
n

HSINI4 NILVS/404dIIW [1331S SSTINIVLS v0€] S1TINd A3SSIDIY



54

_ Material: Zinc Alloy Max28
STEEL

(5-29/32")

Item No.
1 SD-160/CR
2 SD-160/SN

Material: Zinc Alloy M4x8
UTZ_ 130 Finish: Chrome (CR) =
Satin Nickel (SN) =TEEE
Satin bronze (SB)

Finish: Chrome (CR)

% SD- 160 Satin Nickel (SN)
Z (s-;g/“sw‘)
= 1
= | g s

-+ ( — das
y\ i ) s lﬁ
B T
C 112
=
G . | |

i 1 — [ = fee | T T
@ — } — {j i GtHS
~ o i
. y
O
o
wn

25—

(1-31/32")

m E
(@) ]
A 25
m Feme—— =N 2 _ EN
O = = s Lo}
’B‘;? M4 x 0.7 LSZ'SJ
g (4_49'/,5‘-) Depth 8
Item No.
F
™ 3 UTZ-130/CR
0 UTZ-130/SN
5 UTZ-130/SB
Finish: Polished Brass (PB) STAINLESS
Ut Satin (S) 304

i
S

L [a]
= = I
t
Item No. L H D D1
6 UT- 75/S 75( 2-61/64") 36 7
7 UT-105/S 105 (4-1/8" ) 40 75 155
8 UT-140/S 140 (5-33/64") 47 7.5 ’
9 UT-105/PB 105 (4-1/8") 40 75
o STAINLESS
S P Finish: Polished Brasg (PB) 304
Satin (S) STEEL
L 22 D
@ I
Item No. L H D
10 SP-35/S 44 (1-47/64") 44 (1-47/64") 9.8
11 SP-38/S 47 (1-27/32") 47 (1-27/32") 103
12 SP-48/S 57 (2-1/4") 57 (2-1/4") ’
13 SP-35/PB 44 (1-47/64") 44 (1-47/64") 9.8

(US.A.Only)

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267



55
5;:!;55 o Max25 Finish: Satin (S _
STEE4I.. NUT STEEL tnish: Satin (9 ES'611

& ~——————— 102
i - (4-1/64")
ET Copper M4 x 0.7

90
(Male Studs/Copper)

<3
l~16 !

S 121
= T — (4-49/64")

(M4 Female Studs/Copper
with M4 x 25 Steel screws)

I
>
Z
)
=
m
w
5
C
=
—
n
%
=
Z
O
o
n

-

wo
(Weld-on)

| ch b | J‘g = o
¥ ¥ TZ N

Item No.
1 ES-611/ET
ES-611/IT
ES-611/WO

S:T;:*;Ez-‘: M5 Finish: Satin (S) H H 'AS3

STEEL NUT

100.5
(3-61/64") 2-M5x0.8
89
! v
/ T
ny~ il 4 @
o
120 ”
(4-23/32”)
87
- — N = If _
N
: - - - SUIER I a1 =N 3
-
o l

Item No

2 HH-AS3
STAINLESS
OKZ inish: Sati -
304 Finish: Satin (S) HH ASZ

STEEL

HSINI4 NILVS [1331S SSTINIVLS ¥0€] S1T1INd A3sS3IDIY

100
(3-15/16")
90
(3-35/64") 2M4x0.7
Il I =
120
(4-23/32") =t 15t
86 (19/32")
(3-25/64") e et (1.8)
5 b3
— } —— 18838 | 3¥s
¥d lé
I

Item No

3] HH-AS2
www.sugatsune.com SU.GATSIIJNE 1-800-562-5267

(US.A.Only)




56
|

XLA-HH  Vetegataumingm Zinc Alloy E '
STEEL |84

I
>
Z
O
— M4 Depth7
m
0
o C/
—
s 5 P : &
& L
7~
Pz
@) Item No. L
B 1| XLA-HH300 300 ( 11-13/16")
2 XLA-HH600 600 ( 23-5/8" )
U P 600 Material: ABS
= Color: Black, Chrome

E—

100
(3-15/16")

P o
2 7
m -
nn
w0 v
m ) I, iy [
O I o N
o A
c -~ 94— 33
- (3-45/64") (1-19/64")
F
(7, Item No.

3] UP-600

3922 SERIES i e

Chrome (CR)

68.5
(2-45/64")

110
(4-21/64") ”s "
es n ' (716"
T o
——— 58 g8
i i
* Ry
Item No.
3922038/SN

5 3922400/CR

3511' 3512 SERIES Material:ZincAlloy

Finish: Chrome (CR)
Satin Nickel (SN)

1 2 11
(7/16") (7/16")
O il T
X o ow© ©
393 g oo _ || (Y
NP R 35 :
| e !
3511 3512
Item No.
6 3511038/SN
7 3511400/CR
8 3512038/SN
9 3512400/CR

www.sugatsune.com SUéATSl.]NE 1-800-562-5267

(US.A.Only)



57

STAINLESS
316 M5x12} - Finish: Mirror (M) -
STEEL g..; HCT 150 I
>
Z
e— 150 (5-29/32") —» (23) O
-— 127(5") —» -
10 13> avan
| R
|| C
= =N T , —
1 ! ~ © G
~ o o) [ Q_O
\ J \ l §
@)
Item No. L H Load Capacity (kg) g
1 HCT-150 150 96 100 (220 lbs)
Material: Zinc Alloy
Finish: Grey PT' 148
119
(4-11/16")
1 04.4, 012
Depth 0.5
148 4
=
103 S c
92 2+t
A 2
‘ -0 <5 — | i é x
J @ —(—\J @ Q|2 < >
o v L %
F
Item No. L H Load Capacity (kg) m
2] pr-148 119 90 50 (110 lbs) L4
Msxg | Material: Zinc Alloy, Rubber
& Finish: Chrome (Body/Handle), M U D' 140
Black (Grip)
(5-::;/%4“)

80
(3-5/32")

Item No. L H Load Capacity (kg)
3| MuD-140 140 80 30 (66 lbs)
) ' Material: Zinc Alloy, Rubber
88 Finish: Chrome (Body/Handle), TM U - 1 1 5

Black (Grip)

JE——

1 95.1,010.2
(4-17/32")

L%U
..

6. SJ
35
(1-3/8")

-

100
(3-15/16")

Item No. L H Load Capacity (kg)
4 ‘ TMU-115 115 100 40 (80 lbs)

(US.A.Only)

www.sugatsune.com suém‘sﬁm 1-800-562-5267



58

DSI_350 inish: Satin %304

I STEEL
>
P
U 40 (1-9/16")
m $ $ a N
‘(n 20.4 E/g)
e ! | (13/16")
C
—
0 L s
&
§ Item No. L
(@) 1 | DSI-350-16 32 (1-1/4")
83’ 2 | DSI-350-64 96 (3-25/32")
3 | DSI-350-96 128 (5-1/16")
4 | DSI-350-128 160 (6-5/16")
5 | DSI-350-160 192 (7-9/16")
6 | DSI-350-192 224 (8-13/16")
7 | DSI-350-224 256 (10-1/16")
8 | DSI-350-256 352 (13-7/8")
9 | DSI-350-352 544 (21-7/16")
R N STAINLESS
SN D Finish: Mirror (M) F I 3.5x20 304
STAINLESS STEEL
03.7,097.5
| 11
& AR
@ i :‘5
83
Y

,_
lH -~
i—I:

~—25
Item No. L H
ND- M 1-31/32"
17 | S 50/ 50 (1-31/32") 17 ( 43/64")
18| SND- 70/M 70 (2-3/4")
19 | SND- 95/M 95 (3-47/64") 18 (45/64")

20 | SND-120/M 120 (4-23/32")
21 | SND-150/M 150 (5-29/32")

SN Finish: Mirror (M) il 32 || 504
Satin (S) ( sTaiNLESS | | STEEL

19( 3/4" )

{8~
(18-45/64")

L

HSINIA NILVS/40ddIW [1331S SSTINIVLS ¥0€] S11nd 3943

Item No. L
22 SN- 50/M 10 SN- 50/S 50 ( 1-31/32")
23 SN- 70/M 11 SN- 70/S 70 ( 2-3/4" )
24 | SN- 95/M 12 SN- 95/S 95 ( 3-47/64")
25 SN-120/M 13 SN-120/S 120 ( 4-23/32")
26 | SN-150/M 14 SN-150/S 150 ( 5-29/32")
27 SN-200/M 15 SN-200/S 200 ( 7-7/8" )
28 SN-300/M 16 SN-300/S 300 (11-13/16")

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267

(US.A.Only)



3116 | Finish: Satin Nickel
STEEL

I

) >

Z

: : O

I 1 I

m

= B %)

o]

4-93.2 C

—

—

(Va]

~

ha ha <

@)

o

Item No L H D (0p]
1 CN-A362 106 (4-3/16") 36 22
2 CN-A360 137 ( 5-3/8") 36 22

3115 | Finish: Satin Nickel
STEEL 032

s o &

ST11Nnd 15d3

Item No L H D
3 AG-A405 46 (1-13/16")
AG-A402 90 ( 3-9/16")

18 30

RD Material: Zinc Alloy (B34
Finish: Smoke (SMK) =
Satin Nickel (SN) LSTEEL)
)
)

R0-55/90 M4x0.7 Polished Chrome(CR]
c R0-45 M3x0.5 Satin Brass (SB
|
T
I
I
I

/
il

Item No. L H D C
5 RD-45 45(1-25/35") | 19 ( 3/4" ) 8 32 (1-17/64")
6 RD-55 55 ( 2-5/35") 23 (29/32") 9.5 42 (1-21/32")
7 RD-90 90 (3-35/64") | 255 (1-1/64") 10.5 74 (2-29/32")

STANLESS
Finish: Mirror (M) W25 (1346
RD STAINLESS ) | STEEL

c M4x0.7

Item No. L H D C
8 | RD-55/SM 55(2-11/64") 23 ( 29/32") 9.5 42 (1-21/32")
9 | RD-90/SM 90 (3-35/64") 25.5(1-1/64") 10.5 74 (2-29/32")

(U.S.A. Only)

www.sugatsune.com Sué‘mﬁ"[ 1-800-562-5267



60
26700 Finish: Polished ‘g‘.’i‘ﬂg

% STEEL
P 76
o (2-63/64")
o Fs/ew) 25 6.5
) \
_U -
Z
C T
= Q| ©
— — E-S
n © |
o €5 b
~ T
. at
1) —
o © | K il
n \
65 04.2, 08
(2-9/16")
Item No. L H
8 1 ‘ 26700 76 (2-63/64") 57 (2-1/4")
| @ STAINLESS
Finish: Polished 316
O 26901 !w
g 44
(1-47/64")
w —— 31 —> 3>+ 9
— (1-7/32"
2z - |
Q iy
1
= g
- 0g vQ
™ D= AW
= N
— = =
W
= N
()] U
n
;l 04.5, 08
z Item No. L H
; 2 ‘ 26901 44 (1-47/64") 62.5 (2-15/32")
& 26900 Finish: Polish d 316
inish: Polishe 316
m NOSCREW | | STEEL
I'_I'II 38
m (1-1/2")
= ~— 285 —> B 2.7 ~tt 9
(1-1/8")
) |
@) N A i
e\ &
n 4 | ~
R
EE 58 28
<
o 88
= ) (7
™ far)
Z | N o
wn ! B
I 04.3, 08
Item No. L H
3 ‘ 26900 38 (1-1/2") 475 (1-7/8")

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267

(US.A.Only)



STAINLESS
304 Finish: Polished
STEEL STAINLESS

l«—— 60—
(2-23/64")

(2-61/64")

SAONM ® ST1Nd ‘'STITANVH

* 5

Item No.
1] 980643

i s 980641, 980642

STEEL

I
y
- | {——
! ! Y
o
h
T i
A
Item No. L H1
980641 38 (1-1/2") 44 (1-23/32")
3 980642 50 (1-31/32") 60 (2-23/64")

5;#2 ﬂ Finish: Polished 980640
STAINLESS

STEEL

50 — =
(1-31/32") o0

1

B

10L20+

HSINI4 d3HSIT0d [1331S SSITINIVLS ¥0€] STINd DNIY ONIA104

38 3-04,07
(1-1/2"
Item No. L
4] 980640 50 (1-31/32")

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267

(US.A.Only)



Finish: Satin Nickel (WB)
Satin Brass (SB) STEEL

T
>
Z
)
—
m
\(n ==
o =
(@ T
=
=
n
R
=~
Z Item No. L H D
8 7 | 587B-40WB | 1 | 587B-4058 | 30.5 | 403 11
Wl s | 5878-SO0WB | 2 | 587B-505B | 38 51 127
9 | 587B-60WB | 3 | 587B-60SB | 47.5 60 13
587 Fiish: Sain Nickel (W8)
Satin Brass (SB STEEL

L ~D

» M4 x 0.7
3 ‘R e I
F
e &) 7
% ) ’ __
2
2 Item No. L H D
G) 10| 587-40WB | 4 | 587-40SB | 305 403 | 136
o 11| 587-50WB | 5| 587-5058 38 51 14
C 12| 587-60WB | 6| 587-60SB | 47.5 60 | 155
F
~ 580 Finish: Satn Nickel (WB)
(V) >-M4 x 0.7 Satin Brass (SB, p——
— 20— Depth3
r ﬁ =
‘ o

022

l—032 .

051.2
(2-1/64")
Item No.
13 580-WB
14 580-SB

3261, 3262 SERIES

Material: Zinc Alloy
Finish: Satin Nickel (SN)

02.8,04.8

80
(3-5/32") - 4.75

s

&
185
a1
&
...
35
(1-3/8")
*‘H:i:
oxl\hl
L s

04.8,02.
59 4.8,02.8

5.5+
)

ﬁ ,/\‘
37

71
(2-51/64")
3261 3262
Item No. L H
15 3261500/SN 80 35
16 3262200/SN 36 37

www.sugatsune.com suém‘sﬁm 1-800-562-5267

(US.A.Only)



63
L

Y FH-100AK, FH-100BK

(STEEL I
Material: Zinc Alloy >
Finish: Polished Nickel, Satin Nickel zZ
O
—
22 )
" m
(7/8") ¥~ wn
©©
L2 9
fre}
; 2-M3x0.5 -
@ Depth6 =
wn
~
. —~ | - ii/¢ T;‘ = %
5 lelse 8.3
3% 8232 ¥5 %% &
e é e/ c= ‘ h= e
=
35°—| )__E$
0
E== ' Ec-;
FsE
18144 === 2
1971 2x03.5
25 ! N
(63/64") \F x
5l
fl42 e5
e E
22.5 4.5
l—>+31.5(1-15/64")
Item No. * FH-100AK-00 has detent to hold

lever open or closed.
* FH-100BK-00 has spring to return
lever to the closed position.

Y FH-100AM, FH-100BM

1 FH-100AK-00
FH-100BK-00

F
m
<
m
~
v
c
F
F
(7]
N
P
(@]
=y -
Material: Zinc Alloy -
Finish: Polished Nickel, Satin Nickel o
2 =
[~ )
© ©

it o
! 2-M3x0.5 -
© Depth6 (V)
- XL
7a o
\) )
2z
= — o F ! — | — n
Y % % ,’V N A
88 53 > L 93 58 m
T T8 T4 RN -

o o | c= T |2
350__| _,__'I wn
| =
\ —— - —
18 Z
19 E
p
25 (63/64") ‘7’
X

* FH-100AM-00 has detent to hold
Item No. lever open or closed.

2 FH-100AM-00 * FH-100BM-00 has spring to return

FH-100BM-00 lever to the closed position.

(U.S.A. Only)

www.sugatsune.com SUéATS['NE 1-800-562-5267



Finish: Alumite '\\\\“‘
S
>

ST1iNd 1INIGVYD

AOT35-340

340 (13-3/8")

T

>

Z L

,g 10 P P P (10)
1L y
2 i
o M4 Depth8 ©
C

—

—

wn \ ﬁ

> I |
~

=Z Item No. L P

(@) AOT35-180 180 (7-3/32")

o

wn

160
(6-5/16")

3 AQOT35-500

500 (19-11/16")

Finish: Satin (S) M4x25 | | STUNLESS
i 304
DR Mirtor () E.: 304
D H
I %)
‘ 4 q)Q)
\ M4 x0.7
Depth S
Item No. L H B D
4| DR-S/S 24.5(31/32") 25 (63/64") 16.5 5.5
5 DR-L/S 30.5 (1-13/64") 31.5(1-15/64") 20.5 6.5
6 DR-S/M 24.5(31/32") 25 (63/64") 16.5 5.5
7| DR-L/M 30.5(1-13/64") | 31.5(1-15/64") | 20.5 6.5

Material:(DRubber,QAluminum M4x25
Color: Black, Sliver [“gyeer

FS-04/S

50 13
(1-31/32")
] N _
zO |
~T
® £ ||
~
I
35 M4 x 0.7
(1-3/8") Depth 10
Item No. L H
8 ‘ FS-04/S 50 (1-31/32") 27 (1-1/16")

FS-06/S

016
(5/8")

Material: DRubber,@Aluminum M4x25
Color: Black, Sliver [“sTeEeL

g
&
&
M4 x 0.7
Depth 10
Item No. H D
9 FS-06/S 25 (63/64") 16 (5/8")

1-800-562-5267

(US.A.Only)

www.sugatsune.com

SUGHTSUNE



www.sugatsune.com

DG-BT2

Finish: Chrome (CR)

ﬁ

Finish: Satin Chrome (SC) AN 58'12
Chrome (CR) L ‘ 3
m/j
Glass Thickness
Item No. D L (mm)
1| DG-BT2/30-CR 32 25
2 DG-BT2/30-SC (1-1/4") ’ 8~12
3 | DG-BT2/40-CR 40 245 (5/16"~1/2")
4 | DG-BT2/40-SC (1-9/16") '
Finish: Satin Chrome (SC) 8-12
Chrome (CR) 0.5 L
a i-- o
3.5 O.S\M
Item No. D D1 L Glass Thickness (mm)
5 DG-BT30-CR 32
" 23. 26.
6| Do-srsosc | @14y | 2% | %3 812
7 | DG-BT40-CR 40 %% 205 (5/16"~1/2")
8 DG-BT40-SC (1-9/16") ’
STAINLESS
304 DSI-126D
STEEL
Finish: Satin (S) -
35 (1-3/8") 2
Item No. L D Glass Thickness (mm)
9 ‘ DSI-126D 35 30 8~12 (5/16"~1/2")
| STEEL | 8,10

1-9/16°

[‘7(

039.5

Item No.

H Glass Thickness (mm)

10 |

GT-40CR

16 8~10 (5/16"~3/8")

SUGHTSUNE

1-800-562-5267

(US.A.Only)

I
>
Z
)
—
m
2
o
C
—
—
n
%
=
Z
O
o
n

SAONM 400d SSV19D MDV4d Ol MOVvd



66

Finish: Satin Nickel

I

>

P

)

—

m —H 45
w .

o

= i , =
'— o o
wn ! 9

Q w J \ st oupro
~

P

O

(ve)

wn

Item No. D1 D2 H t
TS-25 25
14. 2 7
TS-30 30 > 3 6
3 TS-36 36 15 24 7.5

Finish: Satin Nickel (SN) #8-32x1"
Chrome (CR) STEEL

Polished Brass (PB)

DJ-22

M4
30 ——
(1-8/16")
— :g
Item No. L H
4| Dr22 30 2

GLA

Finish: Satin Nickel (SN)
Chrome (CR) | steeL

O
1 TQDA

HSINId @IHSITOd/IWNOYHD/TDIDIN NILVYS [SSvdd] SGON) LINIFVD

3.5 Depth 10

Item No. D H T
5 GLA-12 12 (15/32") 18 (45/64") 8.5 (21/64")
GLA-16 16 ( 5/8" ) 22 (55/64") 11 (7/16")
7 GLA-20 20 (25/32") 25 (63/64") 14 (11/64")

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(US.A.Only)



ﬂ Finish: Chrome (CR) MRB
Polished Brass (PB)/MRB-L only

=== Smoke (SMK)/MRB-L only

Satin Nickel (SN)

|
L

I
>
Z
)
—
m
2
o
C
—
—
n
%
=
Z
O
o
n

Depth 10

~—18—=

(45/64")

Item No. D H
1 MRB-S 18 (45/64"
(45/64") 21 (53/64")
2 MRB-L* 24 (15/16") z
*MRB-L has stabalizing pin Z
V420 | Finish: Matte Chrome DW- 50 N o
STAINLESS (o v)
wn
18— Set Screw E
i
e 4
Léi;. n
2-04.2,08.2
)

P ——

/// N\
17X —

{0 TN
| NSP -
e ! 97 1S
! <o o o
i - 0 o7
RS ¢ h, J -
| [y o

s s
k2t A
PN Ny N I I S

Max25 Finish: Polished Brass (PB) SY
STEEL Satin Nickel (SN)

M4 x 0.7

H Depth 10

)
/)

Item No. D H
4 SY-16 16 (5/8") 15 (19/32")
5 SY-22 22 (7/8") 17 (43/64")

(US.A.Only)

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267



68

Material: Zinc Alloy, ABS M3x20
PK-03 Finish: Black Nickel (BN) [l

T
> Chrome (CR)
Z
O
—
m
wn
Truss head screw Cap
g Max 20N (1 anary
—
= g -
wn 3 0405 % T 940
@ E-.g 1 ?g £ (Counterbore)
©n A 8
~ « 9 028 S| & L opgpra] o
Z ‘ = | 8 ¢ Bore
o T R rany
oW Door surface e u @
wn |
—o@31—
Item No. D H
1 PK-03/CR 31 19
2 PK-03/BN
S /
E Finish: Anodized <25 (‘g\\‘)“
z A SERIES STEEL | 4 ‘
m
—
~ M4 x 0.7
z Depth 12
S D T
D" ¥ o
wn s
|
+
-~ H—
Item No. D1 H D2
3 A-861 20 ( 25/32" ) 18 (45/64") 10
4 A-862 25( 63/64" ) 18.5(47/64") 11
5 A-863 30 ( 1-3/16") . 12
6 A-864 35 " 19.3/4%
- ( 1-3/8" ) 13
Material: Zinc Alloy Mdx25
M KZ Finish: Chrome (CR)
Polished Brass (PB) (_STEEL
Smoke (SMK)

Satin Brass (SB)
Satin Nickel (SN)

M4 x 0.7
H
h
Item No. D B H h
7 MKZ-S 15 15 (19/32") 20 135
8 MKZ-L 21 20 (25/32") 26 17

(U.S.A. Only)

www.sugatsune.com SU.GATSIIJNE 1-800-562-5267



&
Finish:  Nickel (NI) KK-T
¥ Satin Gold (SG)

I
>
Brown (BR) =z
O
H m
horle 0
o
cC
M4x0.7 =
2 Depth9 n
0
[a)] a =
Q
Q Pz
N w
! wn
Item No. D D1 H h
1 | KK-T24SNI ) .
2 | KK-T2455G (15/16") 16 (29/32") 15
3 | KK-T24SBR
4 | KK-T28SNI " %
5 | KK-T285SG (1-3/32% 20 (1-1/32")
6 | KK-T28SBR

sl Y ' .
i 2 Finish:  Nickel (NI
& (N KK-B

Satin Gold (SG)

[WNNIWNTVY] SSONX LINIEVD

Brown (BR)
H
1.5+
M4 x 0.7
Depth12
o a
Q Q
Item No. D D1 H
7 | KK-B20SNI % %
8 |  KK-B20SSG 25/32") 13 (1-1/32")
9 |  KK-B20SBR
10| KK-B25SNI . 30
11|  KK-B255SG (63/64") 16 (1-3/16")
12|  KK-B25 SBR

www.sugatsune.com SUéATS['NE 1-800-562-5267

(U.S.A. Only)



HANDLES, PULLS & KNOBS

KNOBS [304 STAINLESS STEEL] MIRROR/SATIN FINISH

1-800-562-5267
(U.S.A. Only)

=
=
2
=
Q
2

www.sugatsune.com




Finish: Mirror (M Y
ey ¥

EY-338

Finish: Satin (S) W25 |
STAINLESS

Item No. D L
21 EY-338/20 20 (3/4") 26
22 EY-338/25 25(1") 32
EY-207 Finish: Satin (S) E 114x25 |
STAINLESS
o1 Item No.
23 EY-207
EY- 3 20 Finish: Satin (S) W25 ‘
STAINLESS
217
Iltem No.
014 (35/64") 24 EY-320
EY- 127 Finish: Satin (S) W25
STAINLESS
030 (1-3/16")
5
g
- | | Item No.
i 1
019 (3/4) 25 EY-127/30

RS-38

Finish: Satin (S) W30
STEEL

Item No.

RS-38/S

RSS atin (S
Item No. A B
1 RSS-25/M 22 (55/64") 25 (63/64")
1 RSS-25/S
‘ 2 RSS-30/M 23 (29/32") 30 (1-3/16")
> 2 RSS-30/S
\ 3 RS5-38/M 27 (1-1/16") 38 (1-1/2"
3 RSS-38/S
4 RSS-50/M
4 (1-11/32" 1-31/32"
4 RSS-50/S 34( /32 | 50(1-31/327)
DSI - 209 Finish: Satin (S) !
1
Item No. D L
L 5 DSI-209-12 12 (15/32") 20(13/16")
6 DSI-209-16 16 ( 5/8" ) 26(1")
B 7 DSI-209-20 20 (25/32") 28(1-3/32")
8 DSI-209-24 24 (15/16") 29(1-3/16")
9 DSI-209-29 29 (1-1/8") 35(1-3/8")
EY_ 301 Finish: Satin (S) !
Item No. D L
10 EY-301/10 10 (3/8") 24 (15/16" )
11 EY-301/15 15 (9/16") 26 (1-1/32")
12 EY-301/20 20 (3/4") 28(1-1/8" )
o 13 EY-301/25 25(1") 30 (1-3/16")
°p 14 EY-301/30 30(1-3/16") 28 (1-5/16")
EY' 3 27 Finish: Satin (S) E M
STAINLESS
L
Iltem No. D L
°eb 15 EY-327/20 20 (3/4") 33(1-19/64")
16 EY-327/25 25(1") 35.5(1-25/64")
EY- 3 26 Finish: Satin (S) E W25
STAINLESS
L
oD Item No. D L
17 EY-326/20 20 (3/4") 33(1-19/64")
18 EY-326/25 25(1") 35.5(1-25/64")
EY-339 Finish: Satin (S) W23
STAINLESS
oD
L
Item No. D L
19 EY-339/20 20 (3/4") 37.5
b 20 EY-339/25 25( 1) 415

www.sugatsune.com

SUGATSUNE

1-800-562-5267

(US.A. Only)

I
>
P
o
=
-

W
0
c
=
=
n
1%
)
pd
©)
o
(%)

HSINI4 NILVS/404YIW [1331S SSTTINIVLS ¥0€] SAONM



72

YK-70 page.25 HN page.26

’9\ ‘
> - 2D L, LDJe)tihH%%

3.5—= : }
Lo

—t B3 -

*See p.72in 201 Catalog for dimensions

OP-150 page.26

(2-3/4")
|

I
>
pzd
O
—
m
2
Py
pd
@)
o
wn
%0
o
(=
—
—
wn

Installation
Door Thickness:
min. 30 mm
=)
o Bore Out Dimensions
A
m RP page.26
g YK-W100 page.25
=
m
% 24 20 ,
| llati
A 29 3.5l nstallation ,/
o \
Z \
> |
A
O — [
; ? s o © HH-KS page.52
. O S s .
s © B e}
= N T R17.5 &
@ | ) N
7)) S <96 +|\ g4 d | L
~108— I JiY
l I ~— 87—~ B
Door thickness: T 96 >
min. 30 mm To)
b Cut Out Dimensions
Bore Out Dimensions Bore Dimensions for wood panel for sheet metal
HH-P135 page.25 HH-K page.52
(13.5) 30~40 i j——é Vi
(1.8) Depth 15.5 T I ik
Yo} 0 9‘6 Lﬁ 86 4’J %)6‘
Lf 108 \o45 9
]
} . 4“ E—‘ Bore Dimensions for wood panel Cut Out Dimensions for sheet metal.
B 30.5=— Put sheet metal between front and
:{} é\° back part for sheet metal applications.
J*_P" T (Max. sheet metal thickness: 2 mm)
| |
& ‘ s 2 HH-DS page.52
— pam g
& R17.5 v
| | Fio
3 N
' L <96 |\ gy b S N
— ) ‘ <108 I I
Lo 0 e g7— | %
© 0 1 ] >
96 "
95 0 o
—l<—0.5 o
5 —=t+20 +=— - Cut Out Dimensions
Bore Dimensions for for sheet metal
wood panel

Bore Out Dimensions

(U.S.A. Only)

www.sugatsune.com SUéATSﬁNE 1-800-562-5267



73

HH-D page.52 HH-AS3 page.55

. I
< & =
~
3 i %?g ~—100.5—* o
Deptfm 155 § -‘l J‘- ,; - 920 > -
. . 3
% * i 2z
. | il =
Bore Dimensions for wood panel Cut Out Dimensions for sheet metal. CutOut Dimensions N N g e
Put sheet metal between front and v O
back part for sheet metal applications. 0o
(Max. sheet metal thickness: 2 mm) wn
2-07
HH-KP150 page.53 %
Hole : PO HH-AS2 page.55 IE
4Ax@6 \ | 115 @ G
g | Q
o _n | P Cut Out Dimensions <« 100 —»-
Y
132
(5-13/64") )
Cut Out Dimensions A 4
[ o
3
HH-KL160 page.53
2-06
| - Hole
N AV
by —_— O 5 — =] =
— b ‘
Spacer 110 PT-148 page.57
130

SONIMVYYA TYNOISNIWIA 4049

(Optional : BSP-8)
Sheet metal mounting application K K
Cut Out Dimensions 110 120
(4-21/64") (4-23/32")
HH-FB, HH-FC page.53
N N
o 28 83
Ls e @
N
b as %
° | ot
' . . - - Cut Out Dimensions Cut Out Dimensions
4-04.5 / See p.64 in 201 Catalog for dimensions for back mount for surface mount
UTZ-130 page.54 MUD-140 page.57
135 Screw
116 (5-5/16")
i : ‘ - ® ﬂ Bracket -~
Py " _ @ b4 g |
hd Depth16 }{%\ ‘;’ o \
L [ |
o 1 l = |
o d 4
& 08 il K | —
99
Cut Out Dimensions Installation
Bore Dimensions
HCT-150 page.57
/ r T Screw Bracket
o ] ~ - B
© T
Spacer l
(Optional: BSP-8) |
146 Thickness 0.5~3.2mm
Sheet metal mounting application

Cut Out Dimensions

(U.S.A. Only)

www.sugatsune.com SUéATSﬁNE 1-800-562-5267



74

T SD-160 page.54 UP-600 page.56
>
Pz - 08~
,g : 150 ~ % .
o Bore Dimensi ‘ '
m ‘; ‘-‘L ore bimensions 0 ‘ \ m
N © @ Q | ™
= % Depth 16 ‘\ T ‘Depth:14) "’
% & 1.?‘,5 08 J
a 43
Bore Dimensions XLA-HH page.56
o
O
Ig XLA-HH300 XLA-HH600
o ut [EER A 100 200
B 50 150
C 296 596 =120 =
2 +0.5
go Depth 15
o
? g B
Installati ©
w nstallation @
S \
; ©—0 1100
v ﬁ C*35— 4 £
2 >
E 04.2
wn
6 SP page.54 *See 201 Catalog for dimensions
2
|E 26900 page.60
O
; 15
S (19/32") i
g Installation ‘ A {
7)) \ T
!
|
Sehy
3511, 3512 SERIES page.56 =
3511 SERIES 3512 SERIES
235 26
p Bore depth: 10
26901 page.60
Bore Dimensions Bore Dimensions
16 e
3922 SERIES page.56 (5‘8 ) ‘
69 | _
(2-23/32") * _ b §
Ql w -
T &3 — ¢b9 — &
& w = |
_@_ ! fay
T b
Bore depth: 10

1-800-562-5267

WWW.SUgatSU ne.com
(U.S.A. Only)

SUGHTSUNE



26700

page.60

42
(1-21/32")

980643

@9, Depth4
r43a
e
ao{ ‘p\*
"y -+33 ‘ .
; \
I
. I

=
@

980641, 980642

©8.2, Depth3
Ls—=

&
|

Hs

H2

Depth10

980640

580

page.61

Cut Out Dimensions

page.61

Cut Out Dimensions

*See p.81in 201 Catalog for dimensions

page.61

Cut Out Dimensions

page.62

48

9.5

13.5%}

2.5%9°

www.sugatsune.com

587 page.62
— L3 —— le hg -
A 24.3
% hs 0
~ I
T T f &) T —
oz &
Ly [
*See p. 82 in 201 Catalog for dimensions
587B page.62
Ls +hg =
- A > hy=t=
T o© T
A
T
* |
*See p. 83 in 201 Catalog for dimensions
FH-100AK, FH-100BK page.63
Door
4=
1FE
22 16 >
4
Bore Dimensions
FH-100AM, FH-100BM page.63
&,  2-033 Door
\
a 4=
3419
© * =
/
<22 16 - »

Bore Dimensions

1-800-562-5267

(U.S.A. Only)

SUGHTSUNE

75

I
>
Z
@)
—
m
w
~
=z
@)
o
n
%
o
(e
—
—
wn

SONIMVYYA TYNOISNIWIA 4049



Global Headquarters in Japan

Tokyo Head Office Tokyo Showroom Branch Offices




"
0]
<
3)
c
®
LS
o0
%)
@
@
7
P
)
>
o




78

Quality Forward

To hear is to know, to touch is to understand. When you touch Sugatsune’s products, you can
understand the quality our company exhibits. That quality is shown in our exceptional customer
support, meticulous detail in product development, prompt service with adequate inventory, and
helpful distributors in your area to service you.

For over 30 years we have provided North America
with outstanding and quality customer support;

our customer service team has extensive product
knowledge so we can assist our customers with
timely and clear information. We ensure not only will
our products be of high quality, but that you will be
completely satisfied with our customer service team.
We believe that you cannot have great products
without great customer service.

Service

Quality service requires fast processing and shipping
lead times. Our purchasing ensures that each stock
item is kept to the maximum quantity and our
customer service team will work with you on special
order items. With over 5,000 items stocked, our
facility has the capacity to service the demands of our
customers in North America.

" Customer

Quality
Forward

Our company dedicates a large staff for research and
development of new and innovative products, making

us the first in product development. We determine each
product by functionality and convenience, making us able
to set the market trends; however, we also encourage new
designs suggested by the consumers. Each new product
is tested and rated for exceptional durability and quality,
assuring that you will get the finest finished product.

72\ 600D . ™ /o cooo
\e DESIGN | | - @ DESIGN
]

72\ 600D
\c/\ DESIGN

Sales
Channel

Our customers deserve fast and adequate service so
our extensive distributor network is prepared to assist
you with Sugatsune products. Our distributors have
been evaluated to be the best so you can establish a
relationship, receive excellent service, and receive fair
pricing. Conveniently locate your local distributor on
our website or call us for recommendations.




North American Offices

For more than 30 years, Sugatsune America,

Inc. has provided unique solutions to a wide range

of industries. Our hardware is sought after and used by architects, designers, builders, OEM’s,
and countless homeowners. No matter the application or industry we are proud to supply
innovative and high quality hardware solutions.

North American Headquarters Carson, CA

Premiere Showroom

In August 1982, Sugatsune America, Inc. was established by
parent company Sugatsune Kogyo in Japan, in order to support
its customers and partners in the North American market. Our
office is situated in Carson, CA minutes away amongst one of
the largest economic centers of the world, Los Angeles. This

is where the core of our operations is located for the customer
service, warehouse, purchasing, marketing, and management
teams. Each has a role in catering to the many industries that our
products are found in. Even though we cater to many trades, our
organization’s goal is to supply the customer items unparalleled
quality, craftsmanship, uniqueness, all while giving superior sales
and technical support.

Chicago, IL

In June 2011, Sugatsune America, Inc. unveiled its

first North American showroom located in the heart of
Chicago, IL. Our mission is to help develop a deeper
connection with the architects and distributors in the
surrounding area by having upwards of 1,000 of our
most popular items for display, hosting seminar events,
and product training sessions. Being able to see our
products in person brings about a better understanding
of our products resulting in taking a step forward from a
design and bringing it into reality.

79



80
|

0
(@]
Z
<
m
~
=
(e]
2
< |
P
o)
-
m

Metric to Inch

o L3
Inch to Metric Conversion table Conversion
1" 2" 3" 4" 5" 6" 7" 8" 9" 10" 11" 12" mm Inches
0/0 0.0 254 50.8 762 1016 1270 1524 1778 2032 2286 2540 2794 3048 0.1 0.0039
1/64 0.4 25.8 51.2 76.6 1020 1274 1528 1782 2036 2290 2544 2798 305.2 0.2 0.0079
1/32 0.8 26.2 51.6 770 1024 1278 1532 1786 2040 2294 2548 280.2 3056 03 0.0118
3/64 1.2 26.6 52.0 774 1028 1282 1536 1790 2044 2298 2552 2806 306.0 04 0.0157
1/16 1.6 27.0 52.4 778 103.2 1286 1540 1794 2048 230.2 2556 2810 3064 0.5 0.0197
5/64 2.0 274 52.8 782 103.6 1290 1544 1798 2052 2306 256.0 2814 306.8 0.6 0.0236)
3/32 24 27.8 53.2 786 1040 1294 1548 180.2 2056 231.0 2564 2818 307.2 0.7 0.0276
7/64 2.8 28.2 53.6 790 1044 1298 1552 1806 2060 2314 2568 2822 3076 0.8 0.0315
1/8 3.2 28.6 54.0 794 1048 130.2 1556 1810 2064 2318 2572 2826 308.0 0.9 0.0354
9/64 3.6 29.0 54.4 79.8 1052 1306 1560 1814 206.8 2322 2576 2830 3084 1 0.0394
5/32 4.0 294 54.8 80.2 1056 131.0 1564 1818 2072 2326 2580 2834 30838 2 0.0787
11/64 44 29.8 55.2 806 1060 1314 1568 1822 2076 2330 2584 2838 309.2 3 0.1181
3/16 48 30.2 55.6 81.0 1064 1318 1572 1826 2080 2334 2588 2842 309.6 4 0.1575
13/64 5.2 30.6 56.0 814 1068 1322 1576 183.0 2084 2338 259.2 2846 310.0 5 0.1969
7/32 5.6 31.0 56.4 818 1072 1326 1580 1834 2088 2342 259.6 2850 3104 6 0.2362
15/64 6.0 314 56.8 822 1076 133.0 1584 1838 2092 2346 2600 2854 3108 7 0.2756
1/4 6.4 31.8 57.2 825 1080 1334 1588 1842 2096 2350 2604 2858 3112 8 0.3150
17/64 6.7 321 57.5 829 1083 1337 1591 1845 2099 2353 260.7 2861 3115 9 0.3543
9/32 71 325 57.9 833 1087 1341 1595 1849 2103 2357 2611 2865 3119 10 0.3937
19/64 7.5 329 58.3 837 1091 1345 1599 1853 2107 2361 2615 2869 3123 11 04331
5/16 79 33.3 58.7 841 1095 1349 1603 1857 2111 2365 2619 2873 3127 12 04724
21/64 8.3 337 59.1 845 1099 1353 1607 1861 2115 2369 2623 2877 3131 13 0.5118
11/32 8.7 341 59.5 849 1103 1357 1611 1865 2119 2373 2627 2881 3135 14 0.5512
23/64 9.1 345 59.9 853 1107 1361 1615 1869 2123 2377 2631 2885 3139 15 0.5906)
3/8 9.5 34.9 60.3 857 1111 1365 1619 1873 2127 2381 2635 2889 3143 16 0.6299
25/64 9.9 35.3 60.7 861 1115 1369 1623 1877 2131 2385 2639 2893 3147 17 0.6693
13/32 10.3 357 61.1 865 1119 1373 1627 1881 2135 2389 2643 2897 3151 18 0.7087
27/64 10.7 36.1 61.5 869 1123 1377 1631 1885 2139 2393 2647 2901 3155 19 0.7480
7/16 111 36.5 61.9 873 1127 1381 1635 1889 2143 2397 2651 2905 3159 20 0.7874
29/64 11.5 36.9 62.3 877 1131 1385 1639 1893 2147 2401 2655 2909 3163 21 0.8268
15/32 11.9 37.3 62.7 881 1135 1389 1643 1897 2151 2405 2659 2913 3167 22 0.8661
31/64 12.3 37.7 63.1 885 1139 1393 1647 1901 2155 2409 2663 2917 3171 23 0.9055
1/2 12.7 38.1 63.5 889 1143 1397 1651 1905 2159 2413 266.7 2921 3175 24 0.9449
33/64 131 385 63.9 89.3 1147 1401 1655 1909 2163 2417 2671 2925 3179 25 0.9843
17/32 13.5 389 64.3 89.7 1151 1405 1659 1913 2167 2421 2675 2929 3183 26 1.0236
35/64 13.9 39.3 64.7 90.1 1155 1409 1663 1917 2171 2425 2679 2933 3187 27 1.0630
9/16 14.3 39.7 65.1 90.5 1159 1413 1667 1921 2175 2429 2683 2937 3191 28 11024
37/64 14.7 40.1 65.5 909 1163 1417 1671 1925 2179 2433 2687 2941 3195 29 1.1417
19/32 15.1 40.5 65.9 913 1167 1421 1675 1929 2183 2437 2691 2945 3199 30 11811
39/64 15.5 40.9 66.3 917 1171 1425 1679 1933 2187 2441 2695 2949 3203 31 1.2205
5/8 15.9 413 66.7 921 1175 1429 1683 1937 2191 2445 2699 2953 3207 32 1.2598
41/64 16.3 41.7 67.1 92.5 117.9 143.3 168.7 194.1 2195 2449 2703 295.7 321.1 33 1.2992
21/32 16.7 42.1 67.5 929 1183 14377 1691 1945 2199 2453 2707 2961 3215 34 1.3386
43/64 17.1 42.5 67.9 933 1187 1441 1695 1949 2203 2457 2711 2965 3219 35 1.3780
11/16 17.5 42.9 68.3 937 1191 1445 1699 1953 2207 2461 2715 2969 3223 36 14173
45/64 17.9 433 68.7 941 1195 1449 1703 1957 2211 2465 2719 2973 3227 37 14567
23/32 18.3 43.7 69.1 945 1199 1453 1707 1961 2215 2469 2723 2977 3231 38 14961
47/64 18.7 44.1 69.5 94.9 120.3 145.7 171.1 196.5 2219 2473 2727 2981 323.5 39 1.5354
3/4 19.1 44.5 69.9 952 1207 1461 1715 1969 2223 2477 2731 2985 3239 40 1.5748
49/64 19.4 44.8 70.2 956 1210 1464 1718 1972 2226 2480 2734 2988 3242 41 16142
25/32 19.8 45.2 70.6 96.0 1214 146.8 172.2 1976 223.0 2484 2738 299.2 324.6 42 1.6535
51/64 20.2 45.6 71.0 964 1218 1472 1726 1980 2234 2488 2742 2996 3250 43 1.6929
13/16 20.6 46.0 714 96.8 1222 1476 173.0 1984 2238 2492 2746 3000 3254 44 17323
53/64 21.0 46.4 71.8 97.2 122.6 148.0 1734 1988 2242 2496 2750 3004 3258 45 17717
27/32 214 46.8 722 976 1230 1484 1738 1992 2246 2500 2754 3008 326.2 46 1.8110
55/64 21.8 47.2 72.6 980 1234 1488 1742 1996 2250 2504 2758 3012 326.6 47 1.8504
7/8 22.2 47.6 73.0 984 1238 149.2 1746 2000 2254 2508 276.2 301.6 327.0 48 1.8898
57/64 22,6 48.0 734 988 1242 1496 1750 2004 2258 2512 276.6 302.0 3274 49 19291
29/32 23.0 484 73.8 99.2 1246 1500 1754 2008 2262 2516 2770 3024 3278 50 1.9685
59/64 234 48.8 74.2 996 1250 1504 1758 2012 2266 2520 2774 3028 3282 51 2.0079
15/16 23.8 49.2 746 1000 1254 1508 1762 2016 2270 2524 2778 3032 3286 52 2.0472
61/64 242 49.6 750 1004 1258 1512 1766 2020 2274 2528 2782 3036 329.0 53 2.0866)
31/32 24.6 50.0 754 1008 1262 1516 177.0 2024 2278 2532 2786 3040 3294 54 2.1260
63/64 25.0 50.4 758 101.2 1266 1520 1774 2028 2282 253.6 279.0 3044 3298 55 2.1654

www.sugatsune.com

SUGHTSUNE

1-800-562-5267

(U.S.A. Only)



1 2 3 4 5 6

[Inch ]

7

Measurement Conversions

LENGTH
cm mm inch feet
1 10 0.394 0.0328
0.1 1 0.0394|  0.00328
o o
2.54 254 1 0.083 C F
30.48 304.8 12 1 —
805 ;180
inch = mm + 254 oo £
mm = inch x 25.4 70é ;160
WEIGHT =
60€ ?140
g kg oz lb 55— = 130
1 0.001 0.0353 0.0022 80— 120
45— =
1000 1 35.27 2.205 o= E
= 100
28.4 0.0284 1 0.0625 = E
30— E
453.6 0.454 16 1 s —|E 80
lb = kg x 2.205 20 —[ll= 70
kg = lb + 2.205 15; ;60
10— | E 50
FORCE El =
=
N kgf bf = |SE
-5 — =
1| 010197 0.225 qo0—ME®
- — 10
9.807 1 2.205 = (5
_20; | ——
4.448 0.454 1
bf = kgf x 2.205 N = kgf x 9.807
TEMPERATURE
kgf = lbf = 2205  kgf = N = 9.807 v
OC OF
MOMENT
0 32
N-m kgf - cm lbs - in 1777 0
1 10.197 8.85 C= (F-32)x5:09
0.0981 1 0.868 F=°C+5x9+32
0.113 1.152 1

lbs «in = kgf+cm x 0.868

kgf+cm = lbs - in + 0.868

N-m = kgf-cm x 0.0981
kgfecm =N-m + 0.0981

*All tools and figures are for reference only.

[Metric ]
2

0 1
A

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
e e e e e e e



SUGATSUNE

B DOOR HANDLES
B DOOR KNOBS
m DOOR SYSTEMS
SOFT CLOSING MECHANISM
B CABINET HANDLES
LID SUPPORTS
HINGES
DOOR ACCESORIES
B CABINET HANDLES
SHELVING SYSTEM
SHELF STANDARD
HOOKS & BRACKETS
B CLOSET HARDWARE
GLASS HARDWARE
CATCHES & LATCHES
DRAWER SLIDES
LEVELING GLIDES
CASTERS
MILLION LOCK SERIES
BATHROOM ACCESORIES
H SLIDING DOOR HARDWARE
m CLOSET HARDWARE

Sugatsune America, Inc.
U.S. Headquarters:

18101 Savarona Way

Carson, CA 90746

Phone: 310.329.6373

Toll Free: 800.562.5267 (U.S.A. only)
Fax: 310.329.0819

E-mail: sales@sugatsune.com

Chicago Showroom / Sales Office:

850 South Wabash Avenue #300

Chicago, IL 60605

Phone: 312.461.1081

Fax: 312.461.1082

E-Mail: chicagoshowroom@sugatsune.com






